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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal|Technical|HR|Financial Other{Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

MNote : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows
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In total, how many staff members (both men and women) are employed in Professional Grades in the Corporation?

1. 540
2,450
3. 360
4. 270

(1) 1
() 2
3) 3
(4) 4

Dl (o HHAR] Wa (T8 3R HiGe Gl HURTH & oaaanas I H Faifed &7

1. 540
2.450
3. 360
4. 270

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38101] Question Description : dwbv_pg_gp18_eng_2_q1l
2[Option ID=38102]

3[Option ID=38103]
4[Option ID=38104]
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

How many of the total staff in Professional and Managerial Grades are men?

1.1210
2. 1180
3. 1160
4.1140

1) 1
(2) 2
3) 3
(4) 4




AP R FEUD IS & Dol [dba- PHIRI JFY g7

1210
1180
1160
1140

N

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38105]
2[Option ID=38106]

3[Option ID=38107]
4[Option ID=38108]

Question Description : dwbv_pg_gp18_eng_2_q2
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

How many men are in Managerial Grades?

1. 640
2. 680
3.730
4. 660

(1) 1
) 2
(3) 3
(4) 4




TeUSd 33 H od [ha- & o7

1. 640
2. 680
. 730
4. 660

[E8]

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38109] Question Description : dwbv_pg_gp18_eng_2_q3
2[Option ID=38110]

3[Option ID=38111]
4[Option ID=38112]
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

How many people does the Corporation employ?

1. 16250
2. 14950
3. 13650
4. 12650

1) 1
(2) 2
3) 3
(4) 4




BIUNIH ¥ Hdl [dba- HHARI 87

16250
14950
13650
12650

b P —

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38113]
2[Option ID=38114]

3[Option ID=38115]
4[Option ID=38116]

Question Description : dwbv_pg_gp18_eng_2_q4
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

What percentage of women in Professional Grades is in Legal and HR combined?

1.50 %
2.45%
3.33 %
4.30 %

(1) 1
) 2
(3) 3
(4) 4




A U B fdbd-l gfc=rd afgard faf¥ie ud tger &7 H Uged ¥ 3 Fgifed g2

1.50 %
2.45 %
3.33%
4,30 %

1)
(2)
(3)
(4)

A W N =

1[Option ID=38117] Question Description : dwbv_pg_gp18_eng_2_q5
2[Option ID=38118]
3[Option ID=38119]
4[Option ID=38120]

Sl. No.6
QBID:18201006

Which of the following processes are for observational learning proposed by Bandura?

A. Attention

B. Adaptation

C. Retention (Memory)
D. Behavioral rehearsal
E. Motivation

Choose the correct answer from the options given below:

1. A Cand D only
2.B, Cand E only
3.A Band D only
4.4, C DandEonly

(1)
2)
3)
(@)
3 gRI Wl Y& 4 @ o Fefeied & 9 oF 9 uisan €7

A &I ST

A W N R

B. dHeH

C. WideRom (i)

D. TGeITd Jarary

E. SR

i<l feu 1u fadedl & 0 981 SR g -
1.Had A, C 3R D
2.9 B, C ARE

3.®ad A, B3R D
4. BAAA C D ARE




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38121] Question Description : dwbv_pg_gp18_eng_2_q6
2[Option ID=38122]

3[Option ID=38123]
4[Option ID=38124]

Sl. No.7
QBID:18201007

Given below are two statements:

Statement I: In adolescence period, foreclosure refers to commitment with going through the period of crises.
Statement II: In adolescence period, moratorium is the period without going through the period of crisis.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1
() 2
(3) 3
(4) 4

EIECRIEN A

DY - | : [PURGRT Bt Y H Jigq Y (BRaoR) Ydedid H G - & Wid Uidagdl & Haiid el
T - || - [PRRIGR &1 Al | RAF-®Ie @IReIRTH) 9dbe o | &4 =1 31 R @i g1

Il HYA B 1SS H Fieiad [ecedl # 9 98l Sw 9 -

1. @Y | SR 11 GF Tel 8l
2. @Y | R 11 Gl TTad 8
3.5Y 1 9l 3, g HYH 1 Ted & |
4. B | A E, THd o 1 TE B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38125] Question Description : dwbv_pg_gp18_eng_2_q7
2[Option ID=38126]

3[Option ID=38127]
4[Option ID=38128]

Sl. No.8
QBID:18201008

-------- is the process of observation, scaffolding and increasingly independent practice through which a learner can
advance towards expertise.

1. Cognitive Apprenticeship
2. Adaptation

3. Medification

4. Concept Mapping




1) 1
(2) 2
(3) 3
(4) 4

T&0T, UTS (HH) T iR SMUTe ©0 8 Waa 1a/™ 3 Ul &, o areay 3 ue fRendf fagiugar &1 sik
TR Bl adl o

1. HFHTHD g

2. ¥ @A

3. 3RIEA (HifsfhdEm)

4. HFYRU AERE (@19 A5

1)
(2)
(3)
(4)

A W N R

1[Option ID=38129] Question Description : dwbv_pg_gp18_eng_2_q8
2[Option ID=38130]
3[Option ID=38131]
4[Option ID=38132]

Sl. No.9
QBID:18201009

Arrange the five Phases of "Constructivist Learning Approach” in a Sequence.
A. Explore

B. Elaborate

C. Evaluate

D. Explain

E. Engage

Choose the correct answer from the options given below:

1.A B EDC
2.D, A BEC
3.C,DAEB
4. E A D B C

1)
(2)
(3)
(4)

A W N R




TH HH H Taare! SHfE JurTH & Ui TR &I cHafd @i

A. S0 ] (THEIR)

B. TfawIR wfauifed &A1 Zaaie)
C. H@weH B (ZaqUe)

D. TP HAT (TFTH)

E. BTH | T 1§ BT (3719)
i< TeU 71Q fadhedl # U el IR 44 -

1A B EDC
2.D, A BEC
3.C,DAEB
4. E A D B C

1)
(2)
(3)
(4)

A W N R

1[Option ID=38133] Question Description : dwbv_pg_gp18_eng_2_q9
2[Option ID=38134]
3[Option ID=38135]
4[Option ID=38136]

Sl. No.10
QBID:18201010

SWAYAM is a programme initiated by Government of India and designed to achieve the cardinal principles of
education policy.

1. Five
2. Four
3. Three
4. Six

1)
(2)
(3)
(4)

A W N =

T U U SAHH g, S YRT TWHR gR1 URH e 1 ik Sl e $ife & TR FISIdl &1 9T & & g
3fifepicd fdbar |

1.94
2.dR
3.0
4.98

1)
(2)
(3)
(4)

A W N R

1[Option ID=38137] Question Description : dwbv_pg_gp18_eng_2_q10
2[Option ID=38138]
3[Option ID=38139]
4[Option ID=38140]




Sl. No.11
QBID:18201011

A researcher wants the research question to be

1. Secretive
2. Implicit

3. Explicit

4. Ambiguous

1) 1
(2) 2
3) 3
(4) 4

e | s R 3 R0 (R TG ARd 57

1.7

2. Haied
3. goTad
4. Ay

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38141] Question Description : dwbv_pg_gp18_eng_2_ql1
2[Option ID=38142]

3[Option ID=38143]
4[Option ID=38144]

Sl. No.12
QBID:18201012

Symbolic interactionism is a

1. Theory

2. Hypothesis

3. Research question
4. Review

1) 1
(2) 2
(3) 3
4) 4

JdidTHD HaiHaEaE & Ue

1. fogia
2. U@ a1
3. YUY
4. GHIET

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=38145] Question Description : dwbv_pg_gp18_eng_2_q12
2[Option ID=38146]




3[Option ID=38147]
4[Option ID=38148]

Sl. No.13
QBID:18201013

The process of deduction in research has the following steps. Which are they?
A. Photo-copying the research material

B. Theory

C. Hypothesis and data collection

D. Data analysis, findings, confirmation or rejection of hypothesis

E.Preparing the index

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.B, D and Eonly

1)
(2)
(3)
(4)

A W N R

Y H T &1 Wil § REiaiEd RUBH E 1 IPH-DH U E?
A. Ty 9 Feld Sl B BISieldl H

8. fasid

C. MFH AT 3R 3fH sl GHa

D. Hids! faeigy, Ay, Yrddbed- &1 gy I1 sdidia

£ SHAME] TR &l

= fu 70 fgdenl § @ 9dl IR g4 -
1. BT A, B AR C
2. ®da B, C3ARD

3.®WadC, D ARE
4. HadB, D AR E

1)
(2)
(3)
(4)

A W N R

1[Option ID=38149] Question Description : dwbv_pg_gp18_eng_2_q13
2[Option ID=38150]
3[Option ID=38151]
4[Option ID=38152]

Sl. No.14
QBID:18201014




Given below are two statements:
Statement |: Middle range theories are the focus of empirical enquiry.
Statement II: Unlike grand theories, middle range theories function in a restricted domain.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

A P RYTUE:
TUF - | - T Y fSia, srgyarya g med ¢d 8
@Y - 1 B fsial & udia nw W figia Oiftd 8 4 ol &d B
Iudad Bl B 3o | Faftiad el J 9 58l W g -
1. ®YF | 3R 11 EHT 981 8
2. HYF | 3R Il THI T g

3.9 19 e, g @y 17dad g |
4. @Y HEA §, fog duH 11 el 21

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=38153] Question Description : dwbv_pg_gp18_eng_2_q14
2[Option ID=38154]
3[Option ID=38155]
4[Option ID=38156]

Sl. No.15
QBID:18201015

Given below are two statements:

Statement I: In the systematic sampling, one can choose units directly from the sampling frame, without opting for a table
of random numbers.

Statement II: The Simple random sample is the most primary form of non-probability sample.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R




DU - | : GHarYd Widaad d @iz Aidd grefwse S@s & 9Rofl @ fau fded @ (941 uidaad old 5 ¥ sorsal &1 994
T IR IR TR IHdT 3

FY - 1| : IR el Uideg], HHUeEdl Uiaes &1 3fdd Tufe =9 gl
Iudad dyHl @ aie | FafaRad fGeddl § 9 98 3o g -

1. BT 1 AR 1 SHT I '

2. YA | AR 11 GFT AT B

3. @Y 1 qd e, g @y 1 TTad & |
4. | 3T T, g o 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38157] Question Description : dwbv_pg_gp18_eng_2_q15
2[Option ID=38158]

3[Option ID=38159]
4[Option ID=38160]

Sl. No.16
QBID:18201016

To gain a good vocabulary for effective communication, learners should depend upon

1. Teachers

2. Backbenchers

3. Their own initiatives
4. Qutside tutors

(1) 1
(2) 2
(3) 3
(4) 4

THIAT HUYU] §q U 38l Rlealaci &l U - og, A HSd| ®f [y W A3 giH1 Anfge?

1. Rl WX

2. UTe &1 &9 R 954 gl (@dedy) W
3. 39! WY B Ugd W

4. STg3 S-Fa W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38161] Question Description : dwbv_pg_gp18_eng_2_q16
2[Option ID=38162]

3[Option ID=38163]
4[Option ID=38164]

Sl. No.17
QBID:18201017




------ are made at the level of connotation, in communication

1. Complexities

2. False perceptions
3. Value judgements
4. Deceitful creation

1) 1
(2) 2
3) 3
(4) 4

OO H_ ggaary & X W [ S/ B ol 87

1. SifeeTand

2. gd HgaeT
3. 7o FHuige
4. ®9eqYf TgH1Y

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38165] Question Description : dwbv_pg_gp18_eng_2_q17
2[Option ID=38166]

3[Option ID=38167]
4[Option ID=38168]

Sl. No.18
QBID:18201018

Which of the following are the characteristics of virtual interaction?
A. Time-zone constraints are abundant within a small country.

B. Itis aspatial.

C. It is spatial.

D. Mutual presence is redundant.

E. Virtual interaction through some system is asynchronous.
Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, Dand E only
4.B, D and E only

(1) 1
(2) 2
(3) 3
(4) 4




3 (ST Ware @1 Fafaiad 7 9 @ 9 fatudng 82
A T® BI¢ o¥ I TG-S cay (CEH-9IM) Uideydnd i@ gl &1
B. U8 &S Bl 5
C. 9% ®IH® gidl g
D. URER® IUfeUfd 3HTa%a il ¢
. fop it qumrelt & mremm ¥ o daTe Sredia® sidl 8|
=< feu 7Tu fadedl § 9 U8l SR 9 -
1. @A A, B 3R C
2.%q0 B, C 3R D

3.%aAC, DIAHRE
4.%HadB, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38169] Question Description : dwbv_pg_gp18_eng_2_q18
2[Option ID=38170]

3[Option ID=38171]
4[Option ID=38172]

Sl. No.19
QBID:18201019

Given below are two statements:

Statement I: John Fiske does not support the way in which the term 'myth’ is used by Roland Barthes
Statement II: Barthes links ‘myth’ with a capitalist social order which is a statement of falsehood.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1

() 2

(3) 3

(4) 4

FYF - | : oI e YD et U TOR I JOF H- &1 G T8 $d & ol A0S 91409 Hd |
DY - || : S1UY By ol Uoiiarg] GHTid odaw U |isd g ol U [HROIid &Y ¢l

Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -

1. ®Y | 3R 11 §FT 9ET E
2. @Y | R 11 BF Tad 8
3. 95U 1 TA R, g dY 1 TTad B |
4.0 3T T, g EwE 1 T B




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38173] Question Description : dwbv_pg_gp18_eng_2_q19
2[Option ID=38174]

3[Option ID=38175]
4[Option ID=38176]

Sl. No.20
QBID:18201020

In communication, paradigms are the basis of

1. Numbers

2. Syntagms

3. Syntax

4. Punctuations

1) 1
) 2
(3) 3
(4) 4

oo o, ufaey fAgifad fdad snuyR gid &2

1. HE=A

2. fa=arast

3. gy

4. faumfrg faum

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38177] Question Description : dwbv_pg_gp18_eng_2_q20
2[Option ID=38178]

3[Option ID=38179]
4[Option ID=38180]

Sl. No.21
QBID:18201021

A person pays 10% tax on his income upto 4.0 lakhs. For the amount between 4.0 lakhs to 8.0 lakhs he pays a tax of 20%
and for the amount above 8.0 lakhs, he pays 30% tax. If the total tax paid by the person is 1.8 lakhs, then find his average
percentage of tax paid on the whole income.

1.15 %
2.18 %
3.20 %
4. 25 %

(1)1
(2) 2
(3) 3
(4) 4




D3 Al HGHT 4.0 TRE 9P B HG G 10% DR B YFTAH ST ¢l 4.0 ARG Y 8.0 TG b 7 B =R W 20% B T4 8.0
TRE T IW b 4RI TR 30% B B YTdH Bl ¢l 3ie 39 i gRI a1 7181 $d & YIaH 1.8 TR 6, dd 39| 9y
HG UR faT 71U @ YT DI 319d UTd=d 91d DIt

1.15 %
2.18 %
3.20 %
4.25 %

1)
(2)
(3)
(4)

A W N R

1[Option ID=38181] Question Description : dwbv_pg_gp18_eng_2_q21
2[Option ID=38182]
3[Option ID=38183]
4[Option ID=38184]

Sl. No.22
QBID:18201022

A person invested 3.5000 in each of the years 2005, 2010, 2015 and 2020. The investment of the person doubles every five
years. What will be the total amount, the person will receive in 20257

1.1,35,000
2.1,30,000
3.1,50,000
4.1,20,000

(1)
(2)
(3)
(4)

Tl aafad = 2005, 2010, 2015 3R 2020 & YA®-au H 5000 UL &I 9= 41| U Gid a6l & 34 aAfcd & Ha=l GRAT &l
A1 81 39 fad & ER1 a9 2025 § U &1 94 arell fa oI fat gl

A W N R

1.1,35,000
2.1,30,000
3. 1,50,000
4.1,20,000

1)
(2)
(3)
(4)

A W N R

1[Option ID=38185] Question Description : dwbv_pg_gp18_eng_2_q22
2[Option ID=38186]
3[Option ID=38187]
4[Option ID=38188]

Sl. No.23
QBID:18201023




313000 were divided among certain number of persons equally. Had there been 15 more persons, each person would have
got 60 less. Find the initial number of persons?

1.55
2.60
3.45
4. 50

1) 1
(2) 2
3) 3
(4) 4

13000 TUU B YR DI $F Aidadl H STER-aRI6R &1 U diel T 3R 15 AR S Afdd gid d 38 U Udd Afdd Bl
60 $UY BH fHeid | SRS U H ¢FRIRT U S dicl odfdadl &1 Tl Jid diferg ?

1.55
2.60
3.45
4.50

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38189] Question Description : dwbv_pg_gp18_eng_2_q23
2[Option ID=38190]

3[Option ID=38191]
4[Option ID=38192]

Sl. No.24
QBID:18201024

In a certain Coding language:-

‘Ot fao sa ty” means 'Hot food is tasty’

‘ty fao sa dige’ means ‘Tasty food is good’
‘tubo sa digo” means ‘Mushroom is good’

Which of the following means ‘Hot" and ‘Mushroom’, respectively, in that language?

1. ‘tubo” & 'ty
2.ra" & 'sa’

3. ‘ot’ & tubo’
4. fao” &'ty

(1)1
(2) 2
(3) 3
(4) 4




ol (fgd ey d
e wrai gy @l TH YT WiRp ey
T3 W1 W1 5 &1 o AIey HieH B eia el
&l b1 [ST 31 HREH ST gl |
FrafaRed # © fegar o T AR HREH 72

1. gal 3R T’

2.0 SR =’

3.3l SR Tar
4. B3l 3R 27

1)
(2)
(3)
(4)

A W N =

1[Option ID=38193] Question Description : dwbv_pg_gp18_eng_2_q24
2[Option ID=38194]
3[Option ID=38195]
4[Option ID=38196]

Sl. No.25
QBID:18201025

What number should replace question mark (?) in the series given below :
5,9,15,23 33,7

1.43
2.45
3.56
4. 66

(1) 1
(2) 2
(3) 3
(4) 4

i 1 T e | UsE e o @ ®IH R SF-9 98 HF aige?
5,9, 15, 23,33, 7

1.43
2.45
3.56
4. 66

1)
(2)
(3)
(4)

A W N R

1[Option ID=38197] Question Description : dwbv_pg_gp18_eng_2_q25
2[Option ID=38198]
3[Option ID=38199]
4[Option ID=38200]

Sl. No.26
QBID:18201026




Which fallacy is committed in the following argument?

“Grades awarded to a student are not truly reflective of the subtle nuances of the student’s performance. Therefore,
students work should not be graded at all.”

1. Equivocation

2. Slippery slope

3. Hasty generalisation
4. Begging the question

(1) 1
(2) 2
(3) 3
(4) 4

Frofafad gfdd & @-91 adew 82

“forddl faemdl &1 Us ¢ | faemdl & uesi= gat ge srdve arafas wu o wiafdfda 78 8id € 13t faenfial & o o1 Us
EEIERIEEIEIEYS

1. 9GS d (SHDUD)
2. ThycH gad gaH
3. gl GHERIEH
4. AT Y

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38201] Question Description : dwbv_pg_gp18_eng_2_q26
2[Option ID=38202]

3[Option ID=38203]
4[Option ID=38204]

Sl. No.27
QBID:18201027

Which of the following statements are logically equivalent?
A. No tigers are non-mammals.

B. No mammals are tigers.

C. All non-mammals are non-tigers.

D. All tigers are mammals.

Choose the correct answer from the options given below:

1.A Cand D only
2. A and B only
3.A, Band Conly
4.B and C only

(1)1
(2) 2
(3) 3
(4) 4




Fufeiad o 9 @H-4 %uH dlibe ©U 4 G0 82
A, Bzl 919 TR-FA9R T8 8
8. ®1% W T 919 T8l 6
c. Gt TR-Tur, TR-a9 2
D. G 9" WHaE B
o fEu U fadheal 3 9 98 W g -
1.®ad A, C3IRD
2. Bad A 3R B
3. ®WAAA, B AR C
4. HaAB 3R C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38205] Question Description : dwbv_pg_gp18_eng_2_q27
2[Option ID=38206]

3[Option ID=38207]
4[Option ID=38208]

Sl. No.28
QBID:18201028

If the statement “All tigers are mammals’, is given as true, which of the following statements could be immediately inferred
to be false?

A. Some tigers are not mammals.

B. Some tigers are mammals.

C. No tigers are mammals.

D. Some mammals are tigers.

Choose the correct answer from the options given below:

1. A and D only
2. A BandD only
3. A and Conly
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4




ofe Hy= gt 919 WU &, 1 99 & ©u 1 o T gl 9 Fefafed ¥ 4 oF 4 oyF d@te U d 3ad gH & 9 |
HFHIA Tt &I 9 &7

A. TS S WU T8 €1

B. $@ 919 WU g

c. @i i 919 Turf T8l g |

D. HS WUl 919 &

e T e H A WS I -
1.®dd A 3R D
2.Hadd A, B 3R D

3. HAAA AR C
4.%dd B 3R D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38209] Question Description : dwbv_pg_gp18_eng_2_q28
2[Option ID=38210]

3[Option ID=38211]
4[Option ID=38212]

Sl. No.29
QBID:18201029

Which of the following statements are so related that they both cannot be false, although they may both be true?
A, All animals are birds.

B. Some animals are birds.

C. No animals are birds.

D. Seme animals are not birds.

Choose the correct answer from the options given below:

1. A and Conly
2.Aand B only
3.Cand D only
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4




fFefaRed @ 7 9 ©F 38 UeR 4 Y6id § fé d G o/ d -181 6l 9ad o, Jdfd d GHI 9 51 9a@d o
A. Tt FaR Uaf g B
B. T AR U & &
C. ®1g it TR ueft 7l g1 €1
D. S JHdR Ueh el 8id &
Tt Asai A d g I
1. HadA IR C
2.dac A 3R B

3. WA C AR D
4.%ad B 3R D

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=38213] Question Description : dwbv_pg_gp18_eng_2_q29
2[Option ID=38214]

3[Option ID=38215]
4[Option ID=38216]

Sl. No.30
QBID:18201030

According to Nyaya (Classical Indian School of logic) which of the following argument involves the fallacy of Viruddha?

1. The hill has smoke because it has fire.
2. Sound is eternal because it is produced.
3. The hill has fire because it is knowable.
4. Sound is eternal because it is audible.

(1) 1
(2) 2
(3) 3
(4) 4

R YR AR Y dh=IRa-Hd) & SaR HafeRad few gidd ¥ fawg aban Figd 82

1. 74 | Y3 & P YW A 31
2. @1 2T & 1T I8 Iad Sl B
3. Udd W I § Hifds T8 30
4. 7 % & FITD 98 YA 5

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38217] Question Description : dwbv_pg_gp18_eng_2_q30
2[Option ID=38218]

3[Option ID=38219]
4[Option ID=38220]

Sl. No.31
QBID:18201031




Consider the following MS-EXCEL spreadsheet :

A B C D E
1|Day Weather|Temp  |Play Tennis?|Go Running?
2|Monday  |Sunny |High

[¥¥]

Tuesday Windy |[High

e

Wednesday|Raining |Medium

Ln

Thursday |Sunny |Low

(=)

Friday Sunny  [Medium

Suppose the formula — IF (B2<= " Raining”, IF(C2="High","No","Yes"),"No") is entered into E2 and then the cell is copied and
pasted to E3:E6, On what days does Column E report "Yes"?

Note : (The symbol <> represents "NOT EQUAL TO").

1. Monday and Friday only

2. Monday and Tuesday

3. Thursday and Friday only

4. Monday, Thursday, and Friday

(1) 1

(2) 2

(3) 3

4) 4

Fgfeiad T tg-URid Sisgiic iR [daR sifew -
A B |C D E

HiES] HIH[arH = [ aged S
pleaitare o R )

IdEaR @<l e

Aguar R EHifsgE

5[gesdfaaRE (g

6[FFHaAR [T [HifsTH

AFATYA = IF (B2<> “ Raining”, IF(C2="High","No","Yes"),"No") I E2 H Uia¥ a1 S1a1 & 3R fth T &1 £3 : £6 H BHIUT
Fch U Y [eaT oidl | BIad £ & &A1 “ves ROl @i g?

-_-PIT:':[I%I%{> - Wﬁ%mm%}

1. Had GHAR AR EHAR

2. §iHaR 3R HaaR

3. Hdd ggeUldaR 3R YhaR
4. GHdR, JedaR 3R YehaR

1 1




(2) 2

3) 3

(4) 4

1[Option ID=38221] Question Description : dwbv_pg_gp18_eng_2_q31
2[Option ID=38222]

3[Option ID=38223]
4[Option ID=38224]

Sl. No.32
QBID:18201032

The website hosts videos that users can stream. The company uploads new videos to the website. The Videos are
compressed before they are uploaded to the website.

Which statement is a benefit of compressing the videos?

1. Data is encrypted.

2. Duration of each video will be reduced.

3. Less storage space on the web server is required.

4. More bandwidth is required when viewing the videos.

1) 1
(2) 2
3) 3
(4) 4

JeuEe R difsdl Iude g oo yai@alsi gRI Suai (Earem) fedr S1ar g1 S+l dedge | U difsdl & 3uals &al
81 d99I3e W Uals fbU oH & gd difsdl Haiftd &3 U 9Id 5

Fgifd - Hu= difsal & Yaiftd e oH &1 we av &2

1. i@ sl Mg g g

2. U@ difsal @1 3@fy &4 gl o |

3. 49 9k IR ®H YRV ®H & x4l el 6|

4. 59 9if30 @1 W @ B & @ e J3fay $f sraxsdal gl 8|

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38225] Question Description : dwbv_pg_gp18_eng_2_q32
2[Option ID=38226]

3[Option ID=38227]
4[Option ID=38228]

Sl. No.33
QBID:18201033




Identify the correct chronological order of the following Computers based their released date, from earliest to most recent.

A IBM 701

B. Altair 8800

C. Apple Macintesh
D. IBM 1620

E. Apple iMac

Choose the correct answer from the options given below:

1.C,EBAD
2.B,ADCE
3.C,B.DAE
4.4 D B CE

(1) 1
(2) 2
(3) 3
(4) 4

Fufdiad el @i 39d e (e [ & YR W, UkiFaH § AdiHa9 71 dd 9el dlalsd @l 9digu]
A. 313 &1 TH 701
B. 3T 8800
C. Twd Hfd=arar
D. HTS &l UH 1620
E. TUd 35 0
e fgu U fadenl § ¥ 9 I I :
1.CEBAD
2.B,ADCE

3.CB D AE
4.4 DB CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38229] Question Description : dwbv_pg_gp18_eng_2_q33
2[Option ID=38230]

3[Option ID=38231]
4[Option ID=38232]

Sl. No.34
QBID:18201034




Given below are two statements:
Statement I: An Intranet is a private network accessible only to an organisation’s staff.
Statement II: The Internet is one super Computer.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
(4) 4

A e RUILE:
TYA - | : SCHE UD ol Hedm © ol [l G164 ® DHANdl & 04 &l AR il 6l
HU - 11 : 3TTIE Th YR DGR B |
IWE DUl & e F Fafaied feeedl § 9 98l s g -
1. ®YF | 3R 11 EF 98T 8
2. BYA 1 3R 11 G Ted & |

3. %Y 19 g, [ ey 1 7Tad & |
4. @Y A T, TEg @ 1 W B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38233] Question Description : dwbv_pg_gp18_eng_2_q34
2[Option ID=38234]

3[Option ID=38235]
4[Option ID=38236]

Sl. No.35
QBID:18201035

Anita is buying a new computer that has an LED display. Which of the following statements about LED displays are True?
A. Itis a flat panel display.

B. It creates images using red, green and blue diodes.

C. It is not very energy efficient and gives off heat.

D. It can be used in mobile devices such as smart phones and tablets.

E. It is a front-lit display.

Choose the correct answer from the options given below:

1.A B and D only
2.Cand E only
3.B, D and E only
4.D and E only




1) 1
(2) 2
(3) 3
(4) 4

HAIT TP 791 LR WG W6l & (o0 Ud 5 of foea (Wed T 6| Tas e lovd (WaX) & g § HRfiad »H-4 $Y9 94
87

A U8 TP 9UIE U9 f5Ed B
B. U8 A1, B, 3R =d 11 31 SIS &1 W4 & a4 (om) Fffd sxar gl
C. T8 e I+il-gel el € AR ST Sl g
D. 34 HIEISd UGV (Gfdadl) ol W W IH SR dacie H YIRT fdsar o gadl g
E. T8 U 3-SidH (he-fire) fEeat 31
i< feu 7Tu fadedl 5 9 98l IR 9 -

1. ®ad A, B3R D

2.%ad C 3R E

3. %dd B, D AN E
4.%ad D AR E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38237] Question Description : dwbv_pg_gp18_eng_2_q35
2[Option ID=38238]

3[Option ID=38239]
4[Option ID=38240]

Sl. No.36
QBID:18201036

Photo-electro-chemical decomposition of water is done to

1. To produce hydrogen

2. To remove pathogens from water

3. To remove metals from water

4. To remove oil and grease from water

(1) 1
) 2
3) 3
4) 4

od BT ThTY-f4ggd-Ieafe HuHe by & R e g7

1. 8IS S 304 @ od

2. 51d § IO B ge 2
3. 9d 9 uigai &1 geH &g

4. 99 ¥ o9 td ¥19 @l geH &g

1) 1
) 2
(3) 3
(4) 4




1[Option ID=38241] Question Description : dwbv_pg_gp18_eng_2_q36
2[Option ID=38242]
3[Option ID=38243]
4[Option ID=38244]

Sl. No.37
QBID:18201037

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Carbon monoxide (CO) has direct green house effect.

Reason (R) : Carbon monoxide in atmosphere can form carbon dioxide (CO3) and can also affect the concentration of
methane (CHa)

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1)1
(2) 2
(3) 3
(4) 4

T Y RUTUE : U @l SHHSHYH (A) SR g8 DI dd (R) Bel 8|

HYHYA (4) : PTET GHGEES(CO) BT T T SSG TUE BT 8

T (R) : Ple HHIEISS dGHST H Bl STe IS (COL)T Tl & HR HEH (CH,)®T Figdl I 1 THIfad H Taoel 2|
SUddd YAl & HTdld | FHifdd [dbedl # 4 Wel 9k 9 -

1. (A) 3R (R) SF 91 € 3R (R), () P! TEl ARAT B |
2.(A) 3R (R aﬁm@%uﬁ )aﬂuﬁwqﬁ%|
3. (A) W B U R}ﬂﬁﬁ%’l
4. (A) WEI 61 8 13 (R) WEI &
1) 1
) 2
3) 3
(4) 4

1[Option ID=38245] Question Description : dwbv_pg_gp18_eng_2_q37
2[Option ID=38246]
3[Option ID=38247]
4[Option ID=38248]

Sl. No.38
QBID:18201038

Which of the following chemicals replaced chlorofluorocarbons (CFCs) after their phase out due to Montreal Protocol?

1. Perflucrocarbons (PFCs)

2. Hydrochlorofluorocarbons (HCFCs)
3. Sulphur hexafluoride (SFg)

4. Halons

(1)1
(2) 2
3) 3
(4) 4




Hii-gd Uieidld & @RU ARl Wkl Bla- @l geH & 416 Hyidrad 5 U fbd U - 34a] Uiawiud faar ur

1. NUGARI @9 (41, 1%, )

2. 531 TR TR $E-Y (Ud. 9. U, €)
3. U7 o WIRES (U9, UH6)

4. 509

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38249] Question Description : dwbv_pg_gp18_eng_2_q38
2[Option ID=38250]

3[Option ID=38251]
4[Option ID=38252]

Sl. No.39
QBID:18201039

Given below are two statements:

Statement I: Millennium Development Goals (MDGs) were established during millennium summit of the United Nations in
the year 2000.

Statement |I: Sustainable Development Goals (SDGs) were adopted in the year 2015.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

OR!
(2) 2
3) 3
(4) 4

EIERERCICTEE S

B - | 99 2000 H Yo AP & Hedlea! RRER TG & R Fedls! [GebTy Tl WIfud fdy g 4
FYA - | : GURUg o™ d&g (U9, 21 1) a4 2015 H 30" T U1

Iuad B! & Scild H Fafied ol 4 8 981 Sw g -

1. @Y | 3R 11 gHI T €
2. @Y | AR 11 G TEd & |
3.5Y 1 9 B, [P S 1 TEd & |
4. T HEA R, g oy 0 T8 B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38253] Question Description : dwbv_pg_gp18_eng_2_q39
2[Option ID=38254]

3[Option ID=38255]
4[Option ID=38256]

Sl. No.40
QBID:18201040




Which sector contributes maximum to the India’s total electricity production.

1. Nuclear

2. Thermal

3. Renewable
4. Hydro

1) 1
(2) 2
3) 3
(4) 4

Fofefad § § ST &7 YRd & $d [96gd Idie § Sfiddd TieH dl 87

1. IRANUGEH
2. ddig
3. AdieRuig
4. 9ig

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38257] Question Description : dwbv_pg_gp18_eng_2_q40
2[Option ID=38258]

3[Option ID=38259]
4[Option ID=38260]

Sl. No.41
QBID:18201041

Given below are two statements:

Statement I: NCERT is the main governing body at the tertiary level of Education in India.

Statement |I: Tertiary education includes both higher education and Vocational education & training in India.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
(3) 3
(4) 4




AR sy kT E:

DU - | T U1 3 AR UG H e & gdiae SRy 2 e gl

HY - 1| : YRa B g e & S SiR saaanias fRiaT aut uiie gFt 2 |
SUge Pyl B e H FEiaRad Geed 9 98 I g -

1. @Y | AR 11 GHI T &
2. @Y | AR 1 G TTEd & |
3.5Y 1 9 3, [ HYH 11 TEd & |
4. T A T, g oy 0 T8 2

1)
(2)
(3)
(4)

A W N R

1[Option ID=38261] Question Description : dwbv_pg_gp18_eng_2_q41
2[Option ID=38262]
3[Option ID=38263]
4[Option ID=38264]

Sl. No.42
QBID:18201042

What is the full form of ‘'STRIDE'?

1. Scheme for Technical Review of Institutions’ Direct Establishment

2. Scheme for Trans-disciplinary Research for India's Developing Economy

3. Sensitization for Trans-disciplinary Research for Information and Digital Education

4. Schoal for Technological Research for Institutions Development and Entrepreneurship

1)
(2)
(3)
(4)

A W N R

EES (THET 3R 35 51'35) B Y0 &Y A&7

1. TP BIR caHidd Kog HIh SRICIY SHae TelaaRm=
2. BHBR Y-SR Rd Bk 3fea Saaft soHME
3. YuiergoH B 2y el fad ik g-BHeH Us f3foed uedaH

4. 9pd B JEHIdoed d B 3 e8Iy SaauH=< US U=eU-REY

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38265] Question Description : dwbv_pg_gp18_eng_2_q42
2[Option ID=38266]
3[Option ID=38267]
4[Option ID=38268]

Sl. No.43
QBID:18201043




According to NEP 2020, All Higher Education Institutions (HEIs) shall aim to become multidisciplinary institutions and shall
aim to have larger student enrolments by the year.

1. 2040
2. 2035
3. 2025
4. 2045

1)
(2)
(3)
(4)

A W N R

T S U1 2020 & HUR T I &1 TMFT (T 3 3H12) DI dgiaudd g1+ au1 AHS1d 9l & gsiiso &1 14 feg a4
qP U ST oh?

1.2040
2.2035
3. 2025
4.2045

1)
(2)
(3)
(4)

A W N R

1[Option ID=38269] Question Description : dwbv_pg_gp18_eng_2_q43
2[Option ID=38270]
3[Option ID=38271]
4[Option ID=38272]

Sl. No.44
QBID:18201044

Given below are two statements:

Statement I: In 1917 Engineering classes were started in the Hindu University, Banaras.

Statement II: In 1917, Engineering colleges were established at Patna, Lahore and Karachi.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement 1l is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N =




BERAGE AR
@Y - | TIRY fog fayTaenem & 9y 1917 & SiaiaT &1 BaTd 3Ry g3 4
HYA - 11 : T4 1917 B TeHl, TER 3R B! H Solll-41T dIeiell @1 ST g5 41|
Iuge Pyl & e H HgfaRad Geedl § 9 98 3o g -

1. % 1 3R 1| GH 91 B

2. @Y1 SR 1 SF A B

3.9 190 8, g @y 1 TTad g |

4. T 3T R, fog & 0 T8 B

1)
(2)
(3)
(4)

A W N R

1[Option ID=38273] Question Description : dwbv_pg_gp18_eng_2_q44
2[Option ID=38274]
3[Option ID=38275]
4[Option ID=38276]

Sl. No.45
QBID:18201045

Given below are two statements:

Statement I: In ancient India only informal system of education was in existence.

Statement II: In ancient India the Indigenous education was imparted at home, in temples, pathshalas and gurukulas.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

EIEFCRE AR
HY - | - W HRA H &1 31 haa SHIERS Tsid g 4l
HY - 11 : UIEiH HRd H WS 8 R W, #ie, ursandrsi R ol d ueH @1 it 4|
Iudad HYHl B 3rrciie | Fftiad Gl J 9 58l W g -
1. ®YF | 3R 11 EH 981 8
2. %Y1 3R 1l GFI TR B

3. %Y 19 g, [ ey 1 7Tad & |
4. @ 3T T, TEg @ 1 W B

1)
(2)
(3)
(4)

A W N R

1[Option ID=38277] Question Description : dwbv_pg_gp18_eng_2_q45




2[Option ID=38278]
3[Option ID=38279]
4[Option ID=38280]

Sl. No.46
QBID:18201046

Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
(from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufvsse 1 UfeT SR IUF a16 o aTat well F I giferg

9 WH & U & &g 9l feg HelbFR 3 @R &1 U9d g & 141 41| 919 & aFl sga U 591 $1 3ugr $d ¥ 3R
ST@T AT SI&0T d URET auT YR 9 f&ar sirar o1 3 et gid &1 off s od € e 59 ui swie ¥ au B B
oA ufEm TRET U ord ¥ smafad el § S Sdt-gfedt, e, dem au @i eRr @1 ga age s 1 I
HIBIbT U1 UTHH TR & Il alalll HRd H HIddR 9 SR gl Hel Sid ¥ SR A €1 94 & Uld clér-ud e H Aiddsyd
HFT @Td U1 30 UHR HRA 3R GI&01-Ud U1 gH1 9 9T UiEs Ui d Swisl & o1 & §id AuR &34 & Agayy &g U
Y™ el GRmee affa aur efan @y IS Ul e §) & Al 3 38 & il R daal 3RE &
AR & I R & 9 yfie Furd) 99 @ e R YR gidl 9 g o1, I1deR ad ayl 991 § 9REHE &
Ttedt gid i, fored Uia-Faio @1 Aeed Wl & AR 31 H40 gl 39 999 9199 &1 f[ufd o f & et gid s
Tegd O 1Y 919 Tl JgdT o 9dbdl Y11 Uid! @I Hi-97 9 Usd U 4 UId $f 3R a1 arel aul A9 & 916 98T J O3d $f
HR dg-areil 3P gal & 1Y §& el H e YA q SR &A1 USdl 4|

The woed for the Indian ship building industry came mainly from
A. Middle-East

B. Burma

C. West-Asia

D. Bengal

E. Malabar

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.B, D and E only
4.C, D and E only

1) 1
(2) 2
(3) 3
(4) 4




YR gid Fafor 3 & iU ae syl qiead: del U ol o 2
A HE-Ud
B. §H1
C. UiEg-uiRm
D. ST
E. AR
i feu 7 fadhedi H U Ugl IR 94 -
1.®WaAA, B AR C
2. %ad B, C 3R D
3. %dd B, D ANE
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38281] Question Description : dwbv_pg_gp18_eng_2_q46
2[Option ID=38282]

3[Option ID=38283]
4[Option ID=38284]

Sl. No.47
QBID:18201047




Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
{from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufvsse 1 UfeT oY IuF a1E o aTal el F I ity

RIHH GHSE & U= & alG 91 o6 HelFR H AR ®1 WHE dg & T 411 94 & Rl ggd SHidd Jdld o 3Udi 3d ¥ &R
SYGI S GIAVT Ud UIRET 9T YR § faar <irdr o1l d 81l i &1 Hi 3Td &d o fSH®1 399 HFT oibisl § aYl id &
oA UfEm TRET U a1 smafad el § s Sdt-gfed, aan, dem au @i teRr @1 ga age sk 1 I
HTBIRT qyT Ui Ui & Jdrg Sfamn YR ® HaaR ¥ HF T8 O 91d 9 3R A 8 FH & Uid cférr-ud oftrn F Aiaesy 9
HFT @ U1 30 UHR HRA 3R GI&01-Yd U1 gHi 9 9T UiEs Ui Ud Spisl & 211 & did AuR &3 & Agayy &g 4
YRdE el Rmee ot aur afa @nyFe IS aul e ) & Al 3 38 & il R daal 9RE &
AR & I AR § 9 yfie ) 99 @ s R YR gidl 9 g o1, 91dER @d ayl 991 § 9REHE &
aoisal gidl off, forad Uia-Fao &1 goieg WO & YR &1 A0 g3 39 990 519y & fufa T ff 5 54 ve did gra
Tegd 9 OiY 919 Ta1 dgdT o 9odl YTl Uid! @I Ji97 9 Usd UEH 4 UXd $f 3R 98- areil aul A9 & a6 98T J O3 ®1
HR FEaTel 3D gdl & [T d6el H dd I 0@ SauiR S Ul ol

The best ivory products came from

1. India

2. Africa

3. Persia

4. South-East Asia

(1)1
(2) 2
(3) 3
(4) 4

g1t Sid & 399 SdIG del T 31d U7

1. URd

2. 3pidl

3. 33H

4. Gléor-gd wiRm

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38285] Question Description : dwbv_pg_gp18_eng_2_q47
2[Option ID=38286]

3[Option ID=38287]
4[Option ID=38288]




Sl. No.48
QBID:18201048

Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
(from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufv=Se 1 UfeT ok IHF a18 o a1at wel F I gifrg

RIHH GHE & U= & alG 91 66 HelFR H AR ®1 W dbg & T-1 411 94 & Rl ggd SHidd Jdld & JUdil 3d ¥ &R
SHS] S GIA0T Ud UfRMET 93T YR | a1 <1 o1l d el i &1 Hf 31T $d o SH@1 399 HFT obidl § aYl &id &
oA UfEm TRET U a1 smafad el § s Sdt-gfed, aan, dem au @i teRr @1 ga age sk 1 I
HTBIRT qyT Ui Ui & Jdrg Sfamn YR ® HaaR ¥ HF T8 O 91d 9 3R A 8 FH & Uid cférr-ud oftrn F Aiaesy 9
HFT @ U1 30 UHR HRA 3R GI&01-Yd U1 gHi 9 9T UiEs Ui Ud Spisl & 211 & did AuR &3 & Agayy &g 4
YRdE el Rmee ot aur afa @nyFe IS aul e ) & Al 3 38 & il R daal 9RE &
AIRA & 9 AR H Wicey YfHaT Rl 99 & SiUsie suR YR uidl | gidr o1, AiddR §d 941 9691 § 9RaH $I
aoisal gidl off, forad Uia-Fao &1 goieg WO & YR &1 A0 g3 39 990 519y & fufa T ff 5 54 ve did gra
Tegd 9 O1Y 919 Ta1 dgdT o 9obdl YTl Uid! @I Ji-97 9 Usd UEH 4 UXd ®f 3R 98- arel aul 349 & a6 98T J O3 ®1
HR FEaTel 3D gdl & (AU §6Tel § dd Y 0@ SawiR ST Ul ol

Given below are two statements:

Statement I: Chinese ships travelled all the way from China to the Middle-East and West Asia.
Statement |I: Chinese ships came to Malabar coast for trade.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
(4) 4




EIERALAE N AR N f
@A - | 1 Ui 919 9 Hgd qT Ui uiEE s ad Ul
HY - 11 : il Uid TR & [T ATER ¢ TR 3M7d 4|
SUge Pyl B e H FEiaRad Geed 9 98 I g -
1. @Y | 3R 1 ST T &)
2. @Y1 AR I GHI A B

3. @19, P @ I TTEa B |
4. Y| A B, g IYF 1 98T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38289] Question Description : dwbv_pg_gp18_eng_2_q48
2[Option ID=38290]

3[Option ID=38291]
4[Option ID=38292]

Sl. No.49
QBID:18201049

Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
(from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufYesg &1 ufen ofi IuF a1g o= ara Ui & I9¢ i

RIHH FHSE & Ud- & alG 91 66 HeNIFR H IR ® W dg & T 411 94 & il sgd SHidd A4l & Uil 3d ¥ &R
SHSI S GIA0T Ud UfRMET 93T YR | far <rar o1l d el gid &1 Hf 3T $d o 91 399 HFT obidl § aYl Bid &
oA UfEm TRET 9 ord ¥ smafad Sl § s Sdt-gfedi, aan, deE aul 94 UeR @1 gaH awge st o1 IE:
HTBIT 9T UTHT TR & ST Gfa YR H AeaR U SR el Ul 9 ¥ SR 7 g 9 & Uid fé-gd ol | adesy
HFT @Td U1 30 UHR HRA 3R EI&01-d U1 gHi 9 9T Ui Ui Ud Spisl & o3l & did AuR &3 & Agayy &g 4
YRAE sl GRme affd auT efa @nyEe IS Ul e §) & ARGl 3 38 & gl R da<l 3RE &
AIRA & 9 AR H Wishy YfHaT ARl 99 & SiUsie suR YR uidl | gidr o1, HiddR §d 941 9691 § 9RaH $i
aisal gl off, forad ua-Faor &1 goieg WO & YR &1 a0 g 39 990 O1ay & fufa U o e i ve did g
HeOud | 1Y 919 981 ggdT o 9obdl Y11 Uid! @I Hi-gT § Usd UEH ¥ UXd ®f 3R 98- arell aul A9 & 916 98T § O3 $1
HR FgaTe 33 gdl & (U §eUel B dd U9 d@ a9k S Usal ol




Given below are two statements:

Statement |: Indian traders played an important role in China’s trade with West Asia and Africa.
Statement |I: Before the monsoons, favorable winds blow from east to west.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4

EIERAAIE A
DY - | : YRd & ARG - UHH-TRET 997 S{BieT & 1Y FH & GuR § Aeaygnl YiFeT Ay
@Y - 1| : A & Ygd HIPd gald Wd U UlEH & R ggdl ¢
Iudad Bl B 3o | Faftiad el J 9 58l W g -
1. Y | 3R 11 &FT T8
2. BYA 1 3R 11 GFI T g |

3.9 19 e, g @y 17dad g |
4. @Y HEA §, fog duH 11 el 21

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38293] Question Description : dwbv_pg_gp18_eng_2_q49
2[Option ID=38294]

3[Option ID=38295]
4[Option ID=38296]

Sl. No.50
QBID:18201050




Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
{from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufvsse 1 UfeT oY IuF a1E o aTal el F I ity

RIHH GHSE & U= & alG 91 o6 HelFR H AR ®1 WHE dg & T 411 94 & Rl ggd SHidd Jdld o 3Udi 3d ¥ &R
SYGI S GIAVT Ud UIRET 9T YR § faar <irdr o1l d 81l i &1 Hi 3Td &d o fSH®1 399 HFT oibisl § aYl id &
oA UfEm TRET U a1 smafad el § s Sdt-gfed, aan, dem au @i teRr @1 ga age sk 1 I
HTBIRT qyT Ui Ui & Jdrg Sfamn YR ® HaaR ¥ HF T8 O 91d 9 3R A 8 FH & Uid cférr-ud oftrn F Aiaesy 9
HFT @ U1 30 UHR HRA 3R GI&01-Yd U1 gHi 9 9T UiEs Ui Ud Spisl & 211 & did AuR &3 & Agayy &g 4
YRdE el Rmee ot aur afa @nyFe IS aul e ) & Al 3 38 & il R daal 9RE &
AR & I AR § 9 yfie ) 99 @ s R YR gidl 9 g o1, 91dER @d ayl 991 § 9REHE &
aoisal gidl off, forad Uia-Fao &1 goieg WO & YR &1 A0 g3 39 990 519y & fufa T ff 5 54 ve did gra
Tegd 9 OiY 919 Ta1 dgdT o 9odl YTl Uid! @I Ji97 9 Usd UEH 4 UXd $f 3R 98- areil aul A9 & a6 98T J O3 ®1
HR FEaTel 3D gdl & [T d6el H dd I 0@ SauiR S Ul ol

The Chinese imported spices mainly from

A, Africa

B. India

C. West-Asia

D. South-East Asia

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4.B and D only

(1) 1
(2) 2
(3) 3
(4) 4




i o TR HHIdl @ HAId Jeic: del § dd U?
A. HBIDT

B. YA

C. UiEH-ulRm

D. Gl&UT-gd iR

i< feu e faweal 5 9 981 IR 9 -

1. Had A AR B
. HAAB 3R C
. HAAC AR D
4.%dq B AR D

2
3

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=38297] Question Description : dwbv_pg_gp18_eng_2_q50
2[Option ID=38298]

3[Option ID=38299]
4[Option ID=38300]

Paper II : 2-Political Science

Sl. No.1
QBID:2001

Rights are what we may expect from others, and others from us, who said it

. Hobhouse
. Laski
. Green

B

. Plato

1) 1
) 2
(3) 3
(4) 4

PR 78 & foFo! 50 gERl T auT gHe gAY U Bd &, U8 g Pl ol

1. 81983 g
2. TP
3. 99
4. el
(11
(2) 2
(3) 3
(4) 4

1[Option ID=38301] Question Description : dwbv_pg_pls_eng_2_q1
2[Option ID=38302]
3[Option ID=38303]
4[Option ID=38304]




Sl. No.2
QBID:2002

Who has written the preface to the "Wretched of the Earth”.

1. Herbert Marcuse
2. Hannah Arendt
3. Jean-Paul Sartre
4. Sabine

1) 1
) 2
3) 3
(4) 4

s A 7 ol 2 iffve e Rl 2

1. §a¢ OIS
2. A1 3=
3. 51 UTd 9
4. J&Ed

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38305] Question Description : dwbv_pg_pls_eng_2_q2
2[Option ID=38306]

3[Option ID=38307]
4[Option ID=38308]

Sl. No.3
QBID:2003

Who said, “Justice is the first virtue of social institutions”.

1. Aristotle

2. John Rawls

3. Andrea Dworkin
4. Mackinon

1) 1
(2) 2
(3) 3
(4) 4

T Graifod STt &1 TuH 950l 87, 78 By fda &

1. TR

2.9 el

3. Ufsar saiidA
4. BfFAH

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=38309] Question Description : dwbv_pg_pls_eng_2_q3
2[Option ID=38310]




3[Option ID=38311]
4[Option ID=38312]

Sl. No.4
QBID:2004

"Politics is war without bloodshed and war is politics with bloodshed", who said it

1. Mao Tse-Tung
2. Hannah Arendt
3. Frantz Fanon
4. Hegel

1 1
(2) 2
3) 3
4) 4

"I IaUTd ed I% & SR g% 39qu1d gad ASH-1d & 98 By fhadl 62

1. IS G
2. 541 AR
3. e T
4. 3d

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38313] Question Description : dwbv_pg_pls_eng_2_q4
2[Option ID=38314]

3[Option ID=38315]
4[Option ID=38316]

Sl. No.5
QBID:2005

In which university Kautilya taught?

1. Takshila
2. Nalanda
3. Vikramshila
4. Audantpuri

(1) 1
(2) 2
(3) 3
(4) 4

Difecd for g faufaenag o fRiem & a3a 47

1. A&
2. Arciar
3. faspafRrer

4. dEaqd

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=38317] Question Description : dwbv_pg_pls_eng_2_q5




2[Option ID=38318]
3[Option ID=38319]
4[Option ID=38320]

Sl. No.6
QBID:2006

Which of the following is the content of Fatwa-i-Jahandari ?

1. Nasihat for the muslim Kings
2. Nasihat for women only

3. Nasihat for old people only

4. Nasihat for liberal thinkers only

1)
(2)
(3)
(4)

Waal - U - Selerl &1 faug-ag Fefied § € & 91 82

1. G D! & oY Tdied

2. ®ad Higansil & fag F8igd

3. had 45 Alaqdl @ fog Adigd

4. dd 3GRAG] [AdR®| & oY g4

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38321] Question Description : dwbv_pg_pls_eng_2_q6
2[Option ID=38322]
3[Option ID=38323]
4[Option ID=38324]

Sl. No.7
QBID:2007

Which of the following is associated with concept of ‘Begumpura’, the Kingdom of God?

1. Ramabai

2. M. K. Gandhi
3. Kabir

4. Meerabai

(1)
(2)
(3)
(4)

A W N R

T R, $2R BT I ST Shed Hgiciad J 4 foe 4 gdg 27

1. 316
2,00 &, T
3. R

4. 1RmER

1)
(2)
(3)
(4)

A W N R

1[Option ID=38325] Question Description : dwbv_pg_pls_eng_2_q7




2[Option ID=38326]
3[Option ID=38327]
4[Option ID=38328]

Sl. No.8
QBID:2008

Who founded the Arya Mahila Sabha?

1. Ambedkar

2. Lohia

3. Ramabai

4. Savitri Bai Phule

1) 1
(2) 2
3) 3
(4) 4

ST AT THT Bt T e Fi?

1. AP
2. difgan
3. 341618
4. gifeHt 918 Bl

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38329] Question Description : dwbv_pg_pls_eng_2_q8
2[Option ID=38330]

3[Option ID=38331]
4[Option ID=38332]

Sl. No.9
QBID:2009

Who said that England is democratic only during the elections?

1. Voltaire
2. Carlyle

3. Rousseau
4. Churchil

(1) 1
(2) 2
(3) 3
(4) 4

FufeiRaa o ¥ foe- ®el & $i0vs dad gA1al & GRIF dlbdiEd sidl 67

1. AR
2. HIaAEd
3. =4
4. 9fdad

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=38333] Question Description : dwbv_pg_pls_eng_2_q9
2[Option ID=38334]




3[Option ID=38335]
4[Option ID=38336]

Sl. No.10
QBID:2010

Who is the author of the ‘Authoritarian Personality'?

1. Hannah Arendt
2. Theodore Adorno
3. Timothy Snyder
4. Friedrich Hayek

1)
(2)
(3)
(4)

A W N R

SIS gt G & orad DI a7

1. 4l AT

2. fimER sl
3. fearf AE s
4. rsR® gid

1)
(2)
(3)
(4)

A W N R

1[Option ID=38337] Question Description : dwbv_pg_pls_eng_2_q10
2[Option ID=38338]
3[Option ID=38339]
4[Option ID=38340]

Sl. No.11
QBID:2011

Who opined that an ideal constitution keeps the political elite in good moral shape and provides lasting political
excellence?

1. Alexis de Tocqueville
2. Aristotle

3. Dicey

4. Bryce

1)
(2)
(3)
(4)

A W N R

g Ad fog 1531 o Ua gl diaum, Je-idd S S 3uH Afdd Wey | delld: 3Gl ¢ 3R R Ae-ids I edl
TG &l 87

1. TS S damsia
2. 3TE]
3. SIgH!
4. 9139

(1) 1
) 2




3) 3
(4) 4

1[Option ID=38345] Question Description : dwbv_pg_pls_eng_2_q1l1
2[Option ID=38346]
3[Option ID=38347]
4[Option ID=38348]

Sl. No.12
QBID:2012

Who gave the idea of a world economic system comprising three concentric rings of the core, a semi-periphery and a
periphery?

1. Arghiri Emmanuel

2. Immanuel Wallerstein
3. Andre Gunther Frank
4. Samir Amin

1)
(2)
(3)
(4)

A-dase gagl-og, og IR vd oRfY T gaa 3fe onfife gomed &1 faar fad ver famn

1. A1 SHAEE
2. SAFUA AeREH
3. 3% R B

4. GHR HHH

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38349] Question Description : dwbv_pg_pls_eng_2_q12
2[Option ID=38350]
3[Option ID=38351]
4[Option ID=38352]

Sl. No.13
QBID:2013

Which of the following acts abolished the Diarchy System in the Provinces and introeduced the provincial autonomy?

1. Government of India Act 1909
2. Government of India Act 1919
3. Government of India Act 1935
4. Government of Indian Independence Act 1947

1)
(2)
(3)
(4)

fafafed o @ feg sfifom uae) T i | Gy Uore &1 991 S &1 74 SR Ui SEedl & an] @) 6T T

1. YRd TIBR ATEHTH, 1909
2. YRd WaR g9, 1919
3. YRd AR HEHTH, 1935
4. Y¥d IR Waadl AEHTH, 1947

A W N R

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=38353] Question Description : dwbv_pg_pls_eng_2_q13
2[Option ID=38354]

3[Option ID=38355]
4[Option ID=38356]

Sl. No.14
QBID:2014

Which of the following is not correct regarding original jurisdiction of the Supreme Court?

1. A dispute between the Government of India and one or more states

2. A dispute between two or more states

3. Article 32 of the Indian Constitution gives us extensive original jurisdiction of the Supreme Court in regard to the
enforcement of Fundamental Rights

4. The Supreme Court has also a wide original jurisdiction over all Court and Tribunals

1) 1
) 2
(3) 3
(4) 4

Jaqd g &1 Aiftd Hieal & deu # FufaRed @H-a1 981 7ol o7

1. YRd TIHR U4 TS T 38 I & 7 fqarc|

2. G 314al & Tl & 7 farg |

3. Y g AU BT et 32 Hift® AUBRI B Haldd B & G6H # Swad Aared B 350 JIi® HATHIdl JaH
CEGIE

4. I=aH raTad &1 9t e ud SiiiEun ) e i Hfwia d gl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38357] Question Description : dwbv_pg_pls_eng_2_q14
2[Option ID=38358]

3[Option ID=38359]
4[Option ID=38360]

Sl. No.15
QBID:2015

Which of the following statements is correct regarding Ashok Mehta Committee recommendations on Panchayat Raj
System?

1. This Committee recommended for two-tier Panchayat System that is Zilla Panchayat at District, and Panchayat at
Village level

2. The Nyaya Panchayat should be kept as separate bodies from the development of Panchayat

3. Seats for SCs and 5Ts should be reserved on rotation basis

4. All District level official must be members of Zilla Panchayat

(1) 1
(2) 2
(3) 3
(4) 4




Gargdl IS AR UR 2 Hedl Gibfd @1 SR & aR J Huiied oH-U &u 98l o7

1. 39 GiHfd = fg-wadi Yaradi Ue SHaRl &1 SR &I 9 e R 1R [ Ua™d Ud g R UR Udihd & €9 5 gidl
gl

2. <010 U @i Tardl & [GeN € 9Y® o[ & 9 § @M SHl 9iet|

3. Sgfd S1Td Ud Sigfad o Sfadl & o Ui Samafad SR W HRIEd &1 91 aifet

4. Tt fore ©R & Sfier e U 4 forem damd & 96w sl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38361] Question Description : dwbv_pg_pls_eng_2_q15
2[Option ID=38362]

3[Option ID=38363]
4[Option ID=38364]

Sl. No.16
QBID:2016

Which of the following articles of the Constitution of India has provision for the forming of Council of Ministers and to aid
and advise the President of India?

1. Article 71
2. Article 74
3. Article 55
4. Article 56

1)
(2)
(3)
(4)

A W N R

frafafad # 9 yRdiy diayH & 69 e 3 ARuRue & 16 Td 3Ho gRI HRd & APUld I Geile T4 Fardl & WiauH
872

1. DG 71
2. HIG 74
3. 3WE 55
4. 3G 56

1)
(2)
(3)
(4)

A W N R

1[Option ID=38365] Question Description : dwbv_pg_pls_eng_2_q16
2[Option ID=38366]
3[Option ID=38367]
4[Option ID=38368]

Sl. No.17
QBID:2017

Who has conceptualised India’s constitutional edifice in terms of “a seamless web"?

1. D. D. Basu

2. Granville Austin

3. Dr. B. R. Ambedkar
4. K. M. Munshi




1) 1
(2) 2
(3) 3
(4) 4

YRd & YT ¥aa @I ey 99" & U ° fheH sauRvid faar

1. 91 8. 99

2. Jfad iR

3. 31 dl. 3R, =S
4. . UH. 4=

1)
(2)
(3)
(4)

A W N R

1[Option ID=38369] Question Description : dwbv_pg_pls_eng_2_q17
2[Option ID=38370]
3[Option ID=38371]
4[Option ID=38372]

Sl. No.18
QBID:2018

Which of the following movement is associated with Chandi Prasad Bhatt.

1. Jal Satyagrah

2. Namantar Andolan

3. Chipko Movement

4. Narmada Bacho Andolan

1)
(2)
(3)
(4)

FafRad 5 9 @ 91 il 9ust UeIe Hg 4 aitd 87
1. I 9T
2. AR Harad
3. Ut srfge

4. eI S91 3figie

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=38373] Question Description : dwbv_pg_pls_eng_2_q18
2[Option ID=38374]
3[Option ID=38375]
4[Option ID=38376]

Sl. No.19
QBID:2019

Who among the following is associated with Supreme Court’s Judgment on live streaming of SC case proceedings?

1. Indira Jai Singh
2. Mukul Rohatgi
3. Ram Jethmalani
4. Kapil Sibbal




1) 1
(2) 2
(3) 3
(4) 4

FOfed o O ®F Swaq /ey & dIG) B PRAl ®1 Agd I IR T S=dd IEed & o9 ¥ 3695 57
1. 3¢ waide
2. g gt

3. T SIGHAR!
4. g fasd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38377] Question Description : dwbv_pg_pls_eng_2_q19
2[Option ID=38378]

3[Option ID=38379]
4[Option ID=38380]

Sl. No.20
QBID:2020

Which is the first political party recognised as a national political party from the North-Eastern region of India?

1. Asom Gana Parishad

2. Mizo National Front

3. National People’s Party
4. Bodoland People’s Front

1)1
(2) 2
(3) 3
(4) 4

frafafad 7 9 fou IeHfae g &f 4Rd & ST-Ud &4 9 UyH A9 Ae-ie gd & &4 7 Al Ui 87

1. 319H 710 UG
2. Tief 3Fa e
3. 9¥Hq dioeg uret
4. gi8ravs Uiy he

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38381] Question Description : dwbv_pg_pls_eng_2_q20
2[Option ID=38382]

3[Option ID=38383]
4[Option ID=38384]

Sl. No.21
QBID:2021

Behavioral approach in the study of organization means--------------

1. Study of system in organizational context

2. Study of the behavior of individual public servants

3. Use of behavioral science in the study of organizational behavior

4. Study of the organizational structure on the basis of the behavioral leadership

1) 1




) 2
3) 3
(4) 4

TIE4 & g § aeRael ey 9 e ...

1. TeTE® do & e &1 3T

2. Jufeae die Y & HdgR & AT

3. WSS HdeR & 0 ¥ sfggRale) [ag &1 Suan
4. FFERAE] "Jd & AR U YISATHS a1 & g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38385] Question Description : dwbv_pg_pls_eng_2_q21
2[Option ID=38386]

3[Option ID=38387]
4[Option ID=38388]

Sl. No.22
QBID:2022

Which of the following are the trends ncticed by the Fred Riggs in Comparative Public Administration?

1. shift from Empirical to Normative

2. Shift from Ideographic to Normative

3. Shift from Ecological to Non-Ecological
4. Shift from Ethical to Rule-based Studies

(1) 1
(2) 2
(3) 3
(4) 4

yiaegsies die w=IE- H ths o9 gR1 FaftiRed oH-9f ugfual o e fGar @ g?

1. HIHIIE® ° AFDE B AR R

2. VT § AFG 4 B R R0

3. IFRfa®T ¥ IR-URFRUfG®T &1 SR =EmR
4. 3T3® U FEH-1IRG g &1 R R

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38389] Question Description : dwbv_pg_pls_eng_2_q22
2[Option ID=38390]

3[Option ID=38391]
4[Option ID=38392]

Sl. No.23
QBID:2023

Taylor’s concept of ‘Mental Revolution” stands for -----------------—--------—--—-

1. Restricted output and cooperations

2. Co-operation harmony and restricted cutput
3. Harmony and cooperation

4. Economy, cooperation and restricted output




1) 1
(2) 2
(3) 3
(4) 4

TR @] AHNYS Hifd S HIYR Hgfaiad ¥ fhad sisgT § Gafdd 87
1. nfgEfia frfd vd ggam
2. T4, 9HRgdl vd ufasfed el

3. HIH U9 98U
4. ieforaeyT, wedr U4 wiasfig Fla

1)
(2)
(3)
(4)

A W N R

1[Option ID=38393] Question Description : dwbv_pg_pls_eng_2_q23
2[Option ID=38394]
3[Option ID=38395]
4[Option ID=38396]

Sl. No.24
QBID:2024

Which one of the following is the drawback of the Bureaucratic Model?

1. Lack of legal-rational principles

2. Lack of rule of law upon the training of bureaucratic organizations
3. Lack of nermative factors of guiding action

4. Lack of theoretically integrated total system of actions

1)
(2)
(3)
(4)

A W N R

FofRad 5 ¥ &1 O Us Soael Aisd & BHl a7

1. foftm-ah e fagidal &1 eva

2. AiBEme! & & dareH | fafd & 2EH @1 3Yd|

3. feandee ol & 9 ¥ G d SRS B 44|

4. Ygifo® ¥4 9 wHidhd dHalied! @ 9yvf el &l 44|

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38397] Question Description : dwbv_pg_pls_eng_2_q24
2[Option ID=38398]
3[Option ID=38399]
4[Option ID=38400]

Sl. No.25
QBID:2025




Who among the following was the first President of National Consumer Disputes Redressal Commission?

1. Justice V. Balakrishna Eradi
2. Justice K.S. Paripoornan

3. Justice Suhas C. Sen

4, Justice D. P. Wadhwa

(1) 1
(2) 2
3) 3
(4) 4

P Ui f3aTE FaR S &1 UyH s FEiiiEd 3 9 S ur

1. <[ F1. SEPwW gue!
2. A &, T, gRyui=
3. <raHfd g I eH

4. raHfd St U1, arear

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38401] Question Description : dwbv_pg_pls_eng_2_q25
2[Option ID=38402]

3[Option ID=38403]
4[Option ID=38404]

Sl. No.26
QBID:2026

How was the NITI Aayog formed?

1. It was formed by an Act of Parliament

2. It was formed by a resolution of the Union Cabinet

3. It was formed by an executive order of Government of India
4. It was formed by an order of Planning Commission

1) 1
(2) 2
3) 3
(4) 4

T SN &1 713 drdl gl UT?

1. 3YBI 716 U4 & Ud AHTH GRI g3 o1

2. 39®1 T34 G410 HEHSd & Uded RT3 Ul

3. 3@ 769 YRd WHR & BIEUGH AT FRT G T
4. 3BT 76 TraT G & HTG= GRT g T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38405] Question Description : dwbv_pg_pls_eng_2_q26
2[Option ID=38406]

3[Option ID=38407]
4[Option ID=38408]

Sl. No.27
QBID:2027




Which of the following was not a salient feature of the National Food Security Act 20137

1. Pregnant women will be entitled to meals

2. Eldest woman of the household to be the head of household for the purpose of issuing ration card
3. Pregnant women will be entitled for receiving maternity benefits of not less than Rs. 6000/-

4. Pregnant women will be entitled for free checkup at Anganwadi

1)
(2)
(3)
(4)

frafaied 3 9 o1 9 g e gRe Ay, 2013 S Jeie-g Rvdr 721 4@

1, Ml HfEa Yo B §HaR oril

2. H BIS SR & & 3530 o Ded DI ey Ulg Aigd, Hed bl gradm ghil
3. 1ad! Bigar A1gd A4 & FY H FAGH . 6000/- U &3 B ghaR gl
4. iad! Bigar AFHaS! | F:2ed did & ghaR il

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=38409] Question Description : dwbv_pg_pls_eng_2_q27
2[Option ID=38410]
3[Option ID=38411]
4[Option ID=38412]

Sl. No.28
QBID:2028

The philosophy of the constitutions is inspired and shaped through the -------------

1. Constituent Assembly’s first meeting on the 9th December 1946
2. Constituent Assembly's resolution on 22" January 1947

3. Constituent Assembly's Meeting of 315t October 1947

4. Constituent Assembly's Second reading on 14™" November 1949

(1)
(2)
(3)
(4)

Hfau &1 &2 FofaRaa @ 3 feud g s wd fffa 82
1. GG G BT 9 fTaR 1946 BT UUH 9@ GRT
2. T3 U & 22 FHE< 1947 & UG GRT

3. TG TUT BT 31 AR 1947 B 96D gRT
4. TG TYT & 14 TdeR 1949 & fgdig arg g

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=38413] Question Description : dwbv_pg_pls_eng_2_q28
2[Option ID=38414]
3[Option ID=38415]
4[Option ID=38416]

Sl. No.29
QBID:2029




As of now, which one of the following statements concerning the three lists - Union, State and Concurrent is incorrect?

1. State list comprises of 61 subjects

2. Union list contains 97 subjects

3. Concurrent list consists of 52 subjects

4. Original concurrent list consists of 47 subjects

1)
(2)
(3)
(4)

oM Rufa # €9, Tod ta gHadi-aiF1 giadl 9 Safid Fafkiied &y | 9 @ 91 o9 82

1.0 T H 61 faug gaTiay €
2. 99 g H o7 [qwy ymifga §
3. gHadl gdi 52 fawai Y & g
4. 70 THa gl 47 vl i 8

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38417] Question Description : dwbv_pg_pls_eng_2_q29
2[Option ID=38418]
3[Option ID=38419]
4[Option ID=38420]

Sl. No.30
QBID:2030

The negative methods of exercising executive control through Personnel Management, which is least used in India is

1. Imposition of cash fines

2. Issuing written warnings

3. Reducing the employee in rank and salary after a full inquiry

4. Administrative reprimand for minor deviation from the desired behavior pattern

1)
(2)
(3)
(4)

HfGaTd Uee & O1e99 4 SRIGR! 930 &3 @ TeRiES &t foaer yRd & &9 uai e g -

1. 9@E A BT AR

2. fofad Jamafaat &1 9t &

3. Q31 Sild & d1G HHAIRAl & UG Ud dad H BHl Bl

4. 3UfEd HaER Ufdey (Ued) ¥ YA fdaeH g UM BedR

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=38421] Question Description : dwbv_pg_pls_eng_2_q30
2[Option ID=38422]
3[Option ID=38423]
4[Option ID=38424]




Sl. No.31
QBID:2031

Henri Fayol's General Theory of administration is applicable at-----------------

1. Policy Management level
2. Top Management level

3. Middle Management level
4. Workshop level

1) 1
(2) 2
3) 3
(4) 4

BRI Bard &1 U= &1 9 Rgia Foifed few ) s g g?

1. Hifd Uy &R
2. 2 ey W
3. 0 U8 Y |
4. PO TR

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38425] Question Description : dwbv_pg_pls_eng_2_q31
2[Option ID=38426]

3[Option ID=38427]
4[Option ID=38428]

Sl. No.32
QBID:2032

Who among the following said ,” Problem solving theory takes the world as it finds it, with the prevailing social and power
relationships and the institutions into which they are organized, as the given framework for action”.

1. Robert W. Cox
2. Andrew Linklater
3. John Maclean
4. Mark Hoffman

1) 1
) 2
3) 3
(4) 4

ofaRad & O [os @ u1- g Iy fagid @3y &1 39 ¥ d 9Fal 8, Snie 98 vaitd 9Hied Ud 9ied 96y 3R
Twyraf & Ty 399 U1l 7, forgT @ $Ran & fau €1 T3 © 0l & 9 § §iféd fHU o 2|

1. 368 S&g b
2. 03y fdder
3. SiF Al

4. T BIGHA

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=38429] Question Description : dwbv_pg_pls_eng_2_q32
2[Option ID=38430]
3[Option ID=38431]
4[Option ID=38432]

Sl. No.33
QBID:2033

Who originally coined the term ‘Security Dilemma'?

1. John Herz

2. Robert Jervis

3. Herbert Battlefields
4. Charles Glaser

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38433] Question Description : dwbv_pg_pls_eng_2_q33
2[Option ID=38434]

3[Option ID=38435]
4[Option ID=38436]

Sl. No.34
QBID:2034

Who has argued that state seeks to maximize power instead of security?

1. Kenneth Waltz

2. Jack Snyder

3. Stephen Van Evera
4. John Mearsheimer

(1) 1

2) 2

(3) 3

(@) 4

FrofaRaa # 9 fege o faar o1 i o0 Qran & soe 2ifed & sifisas uH &1 10 &3d §2
1. BY dleel
2. 5l W38T
3. W% aF 344
4. o ORI

(1) 1

2) 2

(3) 3

(4) 4




1[Option ID=38437] Question Description : dwbv_pg_pls_eng_2_q34
2[Option ID=38438]
3[Option ID=38439]
4[Option ID=38440]

Sl. No.35
QBID:2035

With which writer do you associate the phrase “Anarchy is what states make of it'?

1. Alexander Wendt
2. John Ruggie

3. John Mearsheimer
4. Thomas Risse

11
(2) 2
3) 3
4) 4

Y Y I & Y (6" o @l Yag H- 3R] 98 o, ford I Jaddd &d 877

1. Hoge S a<
2. S T

3. o R
4. 4g

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38441] Question Description : dwbv_pg_pls_eng_2_q35
2[Option ID=38442]

3[Option ID=38443]
4[Option ID=38444]

Sl. No.36
QBID:2036

When did the 26/11 terrorist attacks in Mumbai take place?

1. 2007
2.2008
3. 2009
4.2010

(1)1
(2) 2
(3) 3
(4) 4

gfeRad # O fou qu 5 7ras H 26/11 B HAldhdIG! gl gl 417

1. 2007
2.2008
3. 2009
4. 2010

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=38445] Question Description : dwbv_pg_pls_eng_2_q36
2[Option ID=38446]
3[Option ID=38447]
4[Option ID=38448]

Sl. No.37
QBID:2037

What was the objective of Vande Bharat Mission?

1. To repatriate distressed Indian nationals from outside India
2. To repatriate distressed Indian nationals from Eastern India
3. To repatriate distressed Indian nationals from Western India
4. To repatriate distressed Indian nationals from Southern India

(1)
(2)
(3)
(4)

I¢ YR o= &1 Ie=g Fr U

A W N R

1. Y & dTeX (UGG HRA ART®! & Giéd arad aFl|
2. Jaf YR ¥ [uer HRA™ ArRe| &1 GRigd arey T

3. O URd ¥ faverre URdE Arie! & QR are T
4. GI&UT YR ¥ [qUerRd HRGY A0TRe! i GRIE a0y o=

1)
(2)
(3)
(4)

A W N R

1[Option ID=38449] Question Description : dwbv_pg_pls_eng_2_q37
2[Option ID=38450]
3[Option ID=38451]
4[Option ID=38452]

Sl. No.38
QBID:2038

When did India participate in NAM summit for the first time?

1. 1961
2.1981
3. 1963
4.1971

1)
(2)
(3)
(4)

A W N =

e FRUsr sAfereq @m) J YR = Gauyn &g ad yrr fomn

1.1961
2.1981
3. 1963
41971

1)
(2)
(3)
(4)

A W N R




1[Option ID=38453] Question Description : dwbv_pg_pls_eng_2_q38
2[Option ID=38454]
3[Option ID=38455]
4[Option ID=38456]

Sl. No.39
QBID:2039

In Which of the following year the Act East Policy was announced?

1.1991
2.1982
3.1992
4.2014

(1) 1
(2) 2
(3) 3
(4) 4

frafead 4 9 fou ad 4 goe S ulferd & givon of 715 iz

1. 1991
2.1982
3.1992
4.2014

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38457] Question Description : dwbv_pg_pls_eng_2_q39
2[Option ID=38458]

3[Option ID=38459]
4[Option ID=38460]

Sl. No.40
QBID:2040

Which of the following books are written by Lenin?

A. What is to be done

B. State and Revolution

C. What is History

D. Marxism Today

Choose the correct answer from the options given below:

1. A B and C only.
2. A, Band D only.
3.Cand D only.
4. A and B only.

(1) 1
(2) 2
(3) 3
(4) 4




fFrafaRad # € @ 9 gad i gRT ol 713 & -

A FEIACHE S

B. %< U3 RaegzH

C. ®Te 3= fel

D. HIfRieH 3

i< feu e fawedl 5 9 98l 3w 9 -
1.HAAA, B AR C
2. 59 A, B IR D

3. WA C AR D
4. Had A AR B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38461] Question Description : dwbv_pg_pls_eng_2_q40
2[Option ID=38462]

3[Option ID=38463]
4[Option ID=38464]

Sl. No.41
QBID:2041

Which of the following concepts J.F. Lytoard is associated with
A. Language Game

B. A Report on Knowledge

C. Communicative Rationality

D. Communicational Transparency

Choose the correct answer from the options given below:

1. A and C only.
2. A BandD only.
3.Cand D only.
4. B and C only.

(1)
(2)
(3)
(4)

A W N R




fFrafeiad = 9 (7 Ise1e & 914 & U6, |AIe1S 998 & -
A. HTNTE @A
B. ¥4 31ed widder
C. FuH arfdbaa
D. SN URGHRIAl
i< feu e fasedl 4 9 981 IR 94 -
1.Had A R C
2.5ad A, B AR D

3. WA C AR D
4. HaAB 3R C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38465] Question Description : dwbv_pg_pls_eng_2_q41
2[Option ID=38466]

3[Option ID=38467]
4[Option ID=38468]

Sl. No.42
QBID:2042

Which of the following are related to Hobbes's philosophy?

A. Human will, did not imply anything spiritual or transcendental
B. Perpetual tranquility of mind

C. Life itself is @ motion

D. There is existence of greatest good

Choose the correct answer from the options given below:

1. A and C only.
2.B and D only.
3. A and D only.
4. B and C only.

1) 1
(2) 2
(3) 3
(4) 4




fFrafciad 7 € @14 9 gied & g2i- 4 Galid 82

A T 531 H oo ot snenfde o SfEardia @ gaeR TRl el ®
B. T 1 W Hifd

. ofiedwd B fa

D. ‘HeMdd I Hfaw@ar 8

< U e fdeal & @ 98l IR g4 -
1. HaAA AR C
2. Had B AR D

3. AT A R D
4. HaAB 3R C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38469] Question Description : dwbv_pg_pls_eng_2_q42
2[Option ID=38470]

3[Option ID=38471]
4[Option ID=38472]

Sl. No.43
QBID:2043

Which of the following concepts has not been used by C.B. Macpherson?
A. Developmental Democracy

B. Associational Capacity

C. Extractive Capacity

D. Cultural Democracy

Choose the correct answer from the options given below:

1.C, D and B only.
2.D, Cand A only.
3.D, B and A only.
4. A, B and C only.

1) 1
(2) 2
(3) 3
(4) 4




FrafaRad docoe H 4 foge v . dl, 455U gRI A6l (51 711 82
A fd@rarEd didda
B. TEdR &
c. Fenftfd &mar
D. Yiepiad dlddd
i< feu e fawedl 5 9 98l 3w 9 -
1.Haa C, D AR B
2.%69aD, C AR A

3.®ad D, B AR A
4. BAdAA B AR C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38473] Question Description : dwbv_pg_pls_eng_2_q43
2[Option ID=38474]

3[Option ID=38475]
4[Option ID=38476]

Sl. No.44
QBID:2044

Which of the following are the correct about Vivekananda?

A. In 1897, Vivekananda started the Ramakrishna Mission.

B. Vivekananda set up the Advaita Ashram in the Himalayas.

C. Vivekananda accepted the Sedition Committee Report of 1918.

D. Vivekananda also claimed that a nation’'s true worth could not always be measured in terms of its military might or
material development

Choose the correct answer from the options given below:

1. A B and D only.
2.4, C DandB.

3.B, Cand A only.
4.D, A and C only.

(1)1
(2) 2
(3) 3
(4) 4




fader< & ded 4 Fafafead d o a4 wel 82
A. d 1897 H, [dd®dH= - IHGW HTH &I TR f6hal
8. g - feHed H 3fgd 158 B =0 31 0
C. [dd@r< - a¥ 1918 & Ueigie GiHld RUIE of WieR fdar o1
D. faaaT< &1 7 #1d ¥t o1 e ol AP 7 aralas e Wed ! 4 Afea A1 e faere & 0 5 el A7 S ¥l
&l
e e e awedi H 4 W8I S A -
1.®dd A, B 3R D
2.A C D3RB

3. HadB, C AR A
4.%HaAD, A AR C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38477] Question Description : dwbv_pg_pls_eng_2_q44
2[Option ID=38478]

3[Option ID=38479]
4[Option ID=38480]

Sl. No.45
QBID:2045

Which of the following statements are correct with reference to Tilak?

A. Tilak felt that the roots of Indian Nationalism must be in the sentiments and emotions of the Indian masses.
B. Tilak had also proposed a congress resolution for the release of Ali brothers.

C. According to Tilak, Swaraj was a moral necessity.

D. Tilak opposed the establishment of Poona New English School.

E. Tilak wrote, that swarajya is the foundation and not the height of our future prosperity.

Choose the correct answer from the options given below:

1. A, B, Cand E only.
2.E D, Cand A only.
3.A D, Cand B only.
4. A, Cand D only.

1) 1
(2) 2
3) 3
(4) 4




fad® & deH | FafdiRed # ¥ ®H 4 oy 981 2
A. focie @1 8 A1 T b R AyaTe &1 s YRdIE SHFE &1 {ia1ei wd ol | ffed gl =iiee
. et = ol il @1 gfad ® e Hiug uarg ot wRaifad faan ot
C. fad® & SUR, TR U@ Aldd H1aegahdr df
D. foieie = UAT =g SFeTer wpd o RITYAT &l faRiy fosar o
. fode = fora o wreg SRR § 7 & g9 wiaw-1a 99fs &1 =Aay
i feu 7 fadhedi H U Ugl IR 94 -
1.®ad A, B, C 3R E
2. ®adE D, C HRA
3.®ad A, D, C AR B
4. HaAC, AR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38481] Question Description : dwbv_pg_pls_eng_2_q45
2[Option ID=38482]

3[Option ID=38483]
4[Option ID=38484]

Sl. No.46
QBID:2046

In which of the following categories Gabriel Almond classifies party systems?
A. Authoritarian Party System

B. Dominant Non-authoritarian Party system

C. Competitive Two Party System

D. Non-competitive Two party system

E. Competitive Multi-Party System

Choose the correct answer from the options given below:

1. A B, Cand D only.
2.B, C, D and E only.
3.A C DandE only.
4. A, B, Cand E only.

1)1
(2) 2
(3) 3
(4) 4




Tfsrae sies - qeiid gl o FafaRad 7 9 fa- st | arfigd foar g2
A. FEIE] Sy Horedl
B. TUTET TR-Tamg] Gag wome
c. ufaeaeT fgadg wore
D. TR-ufcreqsff fgaeiia yomet
. wforaelf ag-gci omeht
i feu 7 fadhedi H U Ugl IR 94 -
1. WA A, B, C 3R D
2. %ddB, C, D 3RE
3.HadA, C DIHRE
4. HAAA, B, C HRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38485] Question Description : dwbv_pg_pls_eng_2_q46
2[Option ID=38486]

3[Option ID=38487]
4[Option ID=38488]

Sl. No.47
QBID:2047

Which of the following statements is/are correct regarding composition of the Constituent Assembly?

A. Each princely state was to be allotted seats in proportion to their population.

B. Seats allotted to each British province were divided between Muslims, and Sikhs and other general population

C. The seats allotted to other community were to be elected by the member of that community in provincial legislative

assembly

D. In the above process, proportional representation by means of single transferable vote system was followed

Choose the correct answer from the options given below:

1. A, B and C only.
2.B, Cand D only.
3.A Cand D only.
4. A B, Cand D.

1) 1
(2) 2
3) 3
(4) 4




Higur TH1 B =1 & aR H Fgfdiad 4 9 $14-8 oY 981 87
A. U@ [1ed @ 39S S & urd H diel &l frdfed fdan 9 2
B. U fafe id & o srdfed Ui oo Ud Ra oyl 31 QYR =9 & 739 fauifera @1 15 4|
C. 3 GHE™ & O STdfed ®1 718 diel &f uidig fau=ay & Ter & gewl gr1 Haffad g oIl
D. SWRIdd WihaT §, Ul gdicRuig Hd WoNe! & H1eFl gRT Sulidd Uiaffea ard adids &1 ure (S78H) a1 S o
i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B 3R C
2,947 B, C 3R D

3. HAAA, C3RD
4. A B C3HRD

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38489] Question Description : dwbv_pg_pls_eng_2_q47
2[Option ID=38490]

3[Option ID=38491]
4[Option ID=38492]

Sl. No.48
QBID:2048

Which of the following information are exempted from RT| act without any exception?
A. Information that would enhance financial accessibility of government department
B. Information pertaining to deliberation at cabinet meetings

C. Information which would impede the process of investigation

D. Judicial records pertaining to appointment of judges

Choose the correct answer from the options given below:

1. A Cand D only.
2. A, B and C only.
3.B, Cand D only.
4.4 B CandD.

1) 1
(2) 2
3) 3
(4) 4




frafaiad # € oo gamiail @ fem1 fodl suarg & a1 & SHfUeR AT HREE 9 ge Ud 87
A. 3! G 9l ORI [GHFT &1 fa<dig Siarecel @I dafdd o
B. Pfa-ic 9o & [Gar-famel ¥ gafea g

C. 31 g1 < [t Sitg 1 ufshar | a1ur Iad S o
D. 99l ®i Fgfad ¥ daftd e o (Raigd)
i< f&u U fasedl 5 ¥ 981 3w g -
1.®ad A CHR D
2.Had A, B #R C

3. %4 B, C AR D
4. ®adA, B, C AR D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38493] Question Description : dwbv_pg_pls_eng_2_q48
2[Option ID=38494]

3[Option ID=38495]
4[Option ID=38496]

Sl. No.49
QBID:2049

Which of the following state/ states are formed on the basis of language?
A. Haryana

B. Andhra Pradesh

C. Maharashtra

D. Madhya Pradesh

E. Nagaland

Choose the correct answer from the options given below:

1. A B and C only.
2.B, Cand D only.
3.D, E and A only.
4. A, Cand D only.

1) 1
(2) 2
(3) 3
(4) 4




frafafad & 3 &F T/ I8/ B 7167 U1 & HYR TR g3 27
A ghamn
8. 3% U&=
C. HERTg
D. 79 UGH
E. TS
i< feu 7Tu fadedl 5 9 98l IR 9 -
1. AT A, B 3R C
2,640 B, C 3R D

3. HaAD, E AR A
4. HAAA, C3R D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38497] Question Description : dwbv_pg_pls_eng_2_q49
2[Option ID=38498]

3[Option ID=38499]
4[Option ID=38500]

Sl. No.50
QBID:2050

Who among the following are included in GST Council
A. The Union Finance Minister
B. The Prime Minister of India

C. The Union Minister of State in-charge of Revenue or Finance

D. The Minister in-charge of Finance or Taxation or any other Minister nominated by each state Government

E. The Finance secretary of the Government of India
Choose the correct answer from the options given below:

1. A, B and C only.
2.C, D and E only.
3.A Cand D only.
4. A, B, Cand D only.

1) 1
(2) 2
3) 3
(4) 4




il vy 31 uRyg | Fefated § 9 oF 8 i 82
A B5i1d fa wEll
B. HRd & HTHA
C. XTT%a 31ydT fad & WHRT BH1d I HaAl
D. fag o1 uym & yurl HE 91 UdE Iog RER gRI A1d $ig o 5
E. YRd WHR & fad g
=< feu 7Tu fadedl 5 9 981 SR 9 -
1.®dd A, B 3R C
2.Had C, D R E

3.BadA, CHR D
4. B A, B, C HR D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38501] Question Description : dwbv_pg_pls_eng_2_q50
2[Option ID=38502]

3[Option ID=38503]
4[Option ID=38504]

Sl. No.51
QBID:2051

Which of the following are the Anti Goals of New Public Administration?
A. Anti Positivism

B. Anti Technical

C. Anti Hierarchical

D. Anti Values

Choose the correct answer from the options given below:

1. A B and D only.
2.B,Cand D only.
3. A B and C only.
4.4 B, CandD.

1) 1
(2) 2
(3) 3
(4) 4




99 di® U= & FgfiRed ®H-d i Sgxa &7
A. UEETG faRiet
B. Ut fawreh

C. UgTshH faridi

D. 9 farieht

< U e st & ¥ g8l IR g4 -
1.®ad A, B IR D
2. ®ad B, C 3R D

3. HAAA, B AR C
4.A B, C3HRD

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38505] Question Description : dwbv_pg_pls_eng_2_q51
2[Option ID=38506]

3[Option ID=38507]
4[Option ID=38508]

Sl. No.52
QBID:2052

Which of the following is/are not an e-governance project/projects of Government of India
A. DARPAN

B. PRAGATI

C. SAGAR

D. Jeevan Pramaan

Choose the correct answer from the options given below:

1. A and C only.
2.D only.
3. C only.
4. B only.

1) 1
(2) 2
(3) 3
(4) 4




FafaRad # 9 -4 4Rd WeR &1 uRas-1/aiasHg 981 8/67
A U
B. TATIl
C. WFR
D. Sl GHIT
i< feu e fasedl 4 9 981 IR 94 -
1.Had A R C
2.%6qd D

3. ®WadC
4. %Had B

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38509] Question Description : dwbv_pg_pls_eng_2_q52
2[Option ID=38510]

3[Option ID=38511]
4[Option ID=38512]

Sl. No.53
QBID:2053

Which of the following UN offices are involved in the promotion and maintenance of international peace?
A. Security Council

B. Secretary General

C. General Assembly

D. ECO50C

Choose the correct answer from the options given below:

1. A B and C only.
2.B, Cand D only.
3. A Band D only.
4. A, Cand D only.

1) 1
(2) 2
3) 3
(4) 4




fFrafafad & 9 o14-8 dgad ay & eriag idifE Aifd o i o 81 38 5L 3@ & 9 87
A GIETUREG
B. AETEA
C. HETRHT
D. e, e Ud Gikpids uhug
i< feu g fashedl 4 9 98 I g -
1.Had A, B 3R C
2,947 B, C 3R D

3. ®WAd A, B3R D
4. HaAA, C3R D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38513] Question Description : dwbv_pg_pls_eng_2_q53
2[Option ID=38514]

3[Option ID=38515]
4[Option ID=38516]

Sl. No.54
QBID:2054

Which are the important conclusions of L. Richardson in ‘Statistics of Deadly Quarrels' (1960)?
A. The Problem of war does not arise from the diabolism of one or a few states

B. Desire for revenge was not the case of war during the period (1820-1945)

C. Contiguity has been an important factor in war

D. Nationalism has both induced and prevented wars

Choose the correct answer from the options given below:

1.B, C and D only.
2. A, Band D only.
3. A Cand D only.
4. A, B and C only.

1) 1
(2) 2
3) 3
(4) 4




Ud RASU & Gkd- "fedd 3 SStil HRE" (1960) & HIHY Hg@qy] [y g7

A TG O G TP T $S ol & ¢ddIG ¥ 37 T8l il o
B. TGN A4 1 3351 1820-1945 & BT & SR JG B BRUT 8! 4|

C. YoHd1 5 @1 (ARaRal H Us Ag@yyl dRd 6l ¢
D. PTG - gl ®1 SHURT SR 3731 VoM ciHl @1 31
i< f&u U fasedl 5 ¥ 981 3w g -

1.®ad B, C AR D

2.Had A, B IR D

3. AT A, C3RD
4. HaAAA, B AR C

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38517] Question Description : dwbv_pg_pls_eng_2_q54
2[Option ID=38518]

3[Option ID=38519]
4[Option ID=38520]

Sl. No.55
QBID:2055

Which are the institutions that are part of Washington Consensus?
A. International Monetary Fund

B. World Bank

C. World Trade Organization

D. U.S. Treasury Department

Choose the correct answer from the options given below:

1.B, Cand A only.
2. A, BandD only.
3.C, D and A only.
4.D, B and C only.

1) 1
(2) 2
(3) 3
(4) 4




FofaRad 4 9 @F 3 SR aiRiTes 9d-umfd & HF 82
A IR gz oY
B.fay &%
c. fa% R e
D.  UF ¢oRl (@IFTR) faumT
i< feu e faweal 5 9 981 IR 9 -
1. ®ac B, C AR A
2.5ad A, B IR D

3. ®WAAC, D AR A
4.%adD, B3R C

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38521] Question Description : dwbv_pg_pls_eng_2_q55
2[Option ID=38522]

3[Option ID=38523]
4[Option ID=38524]

Sl. No.56
QBID:2056

Which of the following principles are related to India’s Nuclear Doctrine?

A. India’s Nuclear Doctrine is aimed at building and maintaining a credible minimum deterrent.

B. The Nuclear Command Authority is the sole body which can authorize the use of nuclear weapons
C. India’s Nuclear Doctrine does not persist use of nuclear weapons against non-nuclear weapon states
D. The Prime Minister of India can on his/her own issue order for use of nuclear weapons

Choose the correct answer from the options given below:

1.B, A and D only.
2. A, B and Conly.
3.C, D and A only.
4.A, BCandD.

1) 1
(2) 2
(3) 3
(4) 4




Frafaiad 7 € @14 9 gl 4Rdg wAy figid 9 9 82
A. Y U] RS &1 35%0 US [dYS-1 J-d9 d-1d FaRa® (f$ei=) @i [T vd 39 991 a1 &1
B. IRATY] BAIS Y] UHHE @ € Sl UHTY] SOR] 1 SR B oq Hdd & gdbdl &
C. HR<I9 UA1Y] i TR-URAIY] §RAR dTd A1pT & Raes WA giUaRT & SudiT @i Wigid T8 Gl 8
D. Y @1 WUFHAT TH] SRART & UAT 84 SH1e¥ 9l &R 9l &
i< feu e faweal 5 9 981 IR 9 -

1.®ad A, B AR D

2.Had A, B 3R C

3. HAAA, C3RD
4.A B C3HRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38525] Question Description : dwbv_pg_pls_eng_2_q56
2[Option ID=38526]

3[Option ID=38527]
4[Option ID=38528]

Sl. No.57
QBID:2057

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The Ethics of care is a moral approach that is contrasted with justice.

Reason (R) : Men in general seem to employ their reasons to justify prejudices.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4

TG By GUU G : Ud @l SHUSHYH (A) SR g8 @I BRI (R) Hal T gl
HFHHYT (A) : TEHTT BT IR TP A IUFTH & Sl <417 BT [ARIeTHR 81 81

R) : Tfad ARG AT JHURUTSH! ®I TEETd 38 & (04 30 fadd &1 WaF &d & |
Iudd DYl & lclid | FHifdd [dbedl H 4 el 9 9 -

1. (A) 3R (R) GHT G & 31R (R), (A) B! Y& ARAT & |

2. (A) 3R (R) GHFI A € UL (R), (A) B! H&l AT Tel 6
3. (A) U8l § U3 (R) Tel Tel 5

4. (A) T8l 981 8 g (R) Tel &

1 1




(2) 2

3) 3

(4) 4

1[Option ID=38529] Question Description : dwbv_pg_pls_eng_2_q57
2[Option ID=38530]

3[Option ID=38531]
4[Option ID=38532]

Sl. No.58
QBID:2058

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Justice for all is compatible with equality.
Reason (R): Justice requires positive liberty.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4, (A) is not correct but (R) is correct.

1) 1
) 2
(3) 3
(4) 4

TSI FYRUTUE : U @l AUDHYA (4) R G DI SR (R) Hel T 5
HITEYA (A) : G & o0 <1 &7 YR S Y GUId g

BRI (R) : Y 8 IBRIHD WeAd] TS il 3
U Byl & HTeis § Fifed fAeedl § 3 wel S| I -

1. (A) 3R (R) THT L1 & 3R (R), (A) BT TS AT B
2.(A) ¥R (R) ST 61 & TR (R), (A) BT el 4R Tl &1
3. (A) TEl & W= (R) Wl Tol o
4. (A) HE1 921 8 I3 (R) HE1 B
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=38533] Question Description : dwbv_pg_pls_eng_2_q58
2[Option ID=38534]
3[Option ID=38535]
4[Option ID=38536]

Sl. No.59
QBID:2059




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : In Satyagraha, there was not even the remotest idea of injuring the ocpponent.

Reason (R) : In Passive resistance, there was always an idea of harassment against the other party.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1) 1
) 2
3) 3
4) 4

TG P RUTUE: @ & HHSHYA (4) 3R T8 @I BRI (R) eI T &l
HIHYA (A) : GAIE H, Tl db T faxiehl &1 4 &fd Ug o &1 fdaR faepa i =1 |
BRYI (R) : FitHg ufcRly H gIR ug @ &fd ugaH @1 f[dar 9ca [fed o1

IUad Sl & HITld | FHifdsd [dsedl # 4 el 9wk 9 -

1. (A) 3R (R) TFI 9@ & 3R (R), (A) P 96! AR & |

2. (A) ¥R (R) SHT T € U3 (R), (A) D1 TSI ARAT el 2
3. (A) I & U= (R) 79 §

4. (A) TTEId & W (R) 9 &

1[Option ID=38537] Question Description : dwbv_pg_pls_eng_2_q59
2[Option ID=38538]
3[Option ID=38539]
4[Option ID=38540]

Sl. No.60
QBID:2060

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Authority demands unconditional, unquestioning obedience and can therefore engender a climate of
deference, and abdication of responsibility and an uncritical trust in the judgement of others.

Reason (R) : Authority is a threat to reason and critical intellectual understanding.
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4




TG By GUU G : Ud @ SUSHYA (A) SR g8 @I BRI (R) Hal T gl

HIGYA (A) - Gl foHT 21, Yeerled T80l &1 JiT &dl & AR UL gaRl & HUig H fisdl &l drarawvl, STRalid &l
HETT R HGad! Ty Ia9 B 9! 6

PR (R) : T 9 U4 AAEAHD alfgd 997 & Ufd Wl 6l
Iuddd YAl & Hldld | FHifdd [dbedl # 4 el 9 9 -

1. (A) 3R (R) GHT G & 3R (R), (A) B! G& ARSAT & |

2. (A) 3R (R) BT 9@ € U3 (R), (A) DT &I AT 18| 6
3. cAJﬂ?J%W RIGE

4. (A) 7T 8 TG (R) A 81

1[Option ID=38541] Question Description : dwbv_pg_pls_eng_2_q60
2[Option ID=38542]
3[Option ID=38543]
4[Option ID=38544]

Sl. No.61
QBID:2061

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Health issues are central to MDGs.

Reason (R) : Three out of 08 goals in MDGs are health related issues.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (&).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=38545] Question Description : dwbv_pg_pls_eng_2_q61
2[Option ID=38546]
3[Option ID=38547]
4[Option ID=38548]
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : After end of cold war, there was a rapid transition from a bipolar system to a unipolar system.

Reason (R) : The Collapse of Soviet Power in Eastern and Central Europe and later the end of the USSR itself were the reason
for the change into a unipolar system.

In light of the above statements, choose the carrect answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4

T HYA RUTE : 0P o HHSHY (A) 3R GO B BRI (R) Bel T &
HfirmYA (A) : 2 g B I & a7e, faydi woneh ¥ va ydig womed o aftaaq g 7T 3 gef A
DRUI (R) : Udl GRIU 3R AL RIY H Fiidyd 2l &1 U a4l S8 616 60 g, TH. T4, SR, B GHGA Thydig Turet H
Uftadq & HRUT Y|
I BYAl & HeS H FEifed Aol § 9 w8l S| I -
1.(A)6T1?(R)aﬁfw?3?‘l?m}, (A) T el RS g |
2.(A) 3R (R) THI 0 & T (R), (A) BT W61 AT el &
3. (A) 9 ?W(R}W‘%l
4. (A) TTEd & IR (R) I B

1[Option ID=38549] Question Description : dwbv_pg_pls_eng_2_q62
2[Option ID=38550]
3[Option ID=38551]
4[Option ID=38552]
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The United States of America became a more dominant power after world war II.

Reason (R) : After the second world war, most of the imperial powers declined.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1) 1
) 2
3) 3
4) 4

TG P RUTUE: @ & HHSHYA (4) 3R T8 @I BRI (R) eI T &l
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4. (A) 7TAd & U] (R) UEl g
1 1
(2) 2
(3) 3
4) 4

1[Option ID=38553] Question Description : dwbv_pg_pls_eng_2_q63
2[Option ID=38554]
3[Option ID=38555]
4[Option ID=38556]
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Given below are two statements:

Statement I: Karl Marx wrote his masters’ dissertation on Hegel.

Statement II: In a Communist society, nobody has one exclusive sphere of activity.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1 1
2) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38557] Question Description : dwbv_pg_pls_eng_2_q64
2[Option ID=38558]

3[Option ID=38559]
4[Option ID=38560]
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Given below are two statements:

Statement |: Periyar's prime goal was the elimination of the caste system which he found against the principles of human
civilization and self-respect.

Statement II: Periyar firmly believed that revolution without viclence ensures real and permanent welfare to the people.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
3) 3
(4) 4




1[Option ID=38561] Question Description : dwbv_pg_pls_eng_2_q65
2[Option ID=38562]
3[Option ID=38563]
4[Option ID=38564]
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Given below are two statements:

Statement I: The New right is concerned to advance the cause of ‘liberalism’ against "democracy’ by limiting the possible
uses of state power.

Statement II: The free market does not always operate perfectly and its benefit radically outweigh its disadvantages.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)1
(2) 2
(3) 3
(4) 4
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3. U | el g, fiog %A 11 7Tad g
4. @Y | 710 o, fg &uA 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38565] Question Description : dwbv_pg_pls_eng_2_q66
2[Option ID=38566]

3[Option ID=38567]
4[Option ID=38568]

Sl. No.67
QBID:2067




Given below are two statements:
Statement |: Equality before the law is not applicable to the President of India
Statement II: The President of India enjoys special privileges under the Constitution of India

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38569] Question Description : dwbv_pg_pls_eng_2_q67
2[Option ID=38570]

3[Option ID=38571]
4[Option ID=38572]
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Given below are two statements:

Statement I: Mandal Commission report was a scheme for affirmative action for socially underprivileged sections of society.
Statement Il: The Mandal Commission report was submitted to Government of India in 1979.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R
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1[Option ID=38573] Question Description : dwbv_pg_pls_eng_2_q68
2[Option ID=38574]
3[Option ID=38575]
4[Option ID=38576]

Sl. No.69
QBID:2069

Given below are two statements:

Statement |: India’s form of federalism is best seen as an original rather than a derivative or diminished form.
Statement II: India has defined its own constitutional practice of federalism rather than following earlier blueprint.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R
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1)
(2)
(3)
(4)

A W N R

1[Option ID=38577] Question Description : dwbv_pg_pls_eng_2_q69




2[Option ID=38578]
3[Option ID=38579]
4[Option ID=38580]
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Given below are two statements:

Statement |: Alexander Wendt has identified three types of anarchies in the international system.
Statement II: Alexander Wendt is an Idealist thinker.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
(3) 3
(4) 4
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38581] Question Description : dwbv_pg_pls_eng_2_q70
2[Option ID=38582]

3[Option ID=38583]
4[Option ID=38584]
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Given below are two statements:

Statement |: The core assumption of globalists is that globalization theoretically increases choice of consumer goods for all.
Statement II: The globalists also maintain that globalization favours the rich.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1




) 2
3) 3
(4) 4
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1[Option ID=38585] Question Description : dwbv_pg_pls_eng_2_q71
2[Option ID=38586]
3[Option ID=38587]
4[Option ID=38588]
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Match List | with List Il

List | Concept List Il Thinker

A. History is a graveyard of aristocracies|l. Robert Michaels

B. Iron law of oligarchy Il. Joseph Schumpeter
C. Bureaucratic Rationality l1l. Max Weber

D. Democratic Elitism IV. Vilfred Pareto

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-IV,B-LC-ULD-1
.A-ILEB-ILC-L,D-IV
4A-NLB-1,C-IV,D-1

1)
(2)
(3)
(4)

A W N R




Tt -1 B gt -1 o gAfed st

Tl -l Il
HhedHl IEELET

A, BT SSTA-0F B SIS & . < AHE
B. e &l dlg FgH Il S gEfieR
C. THE dhEf (IR ESECH
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TA-IW,B-IILC-1,D-1
2ZA-IV,B-1.C-IILD-1
A-ILB-ILC-L,D-IV
4.4-1LB-1,C-IV,D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38589] Question Description : dwbv_pg_pls_eng_2_q72
2[Option ID=38590]

3[Option ID=38591]
4[Option ID=38592]

Sl. No.73
QBID:2073

Match List | with List Il

List | Books and Concepts|List Il Author/ Thinker

A. Silent Spring I. Garrett Hardin
B. Deep ecology IIl. R. Carson

C. Tragedy of Commans  |lll. B. Anderson
D. Imagined Communities |IV. Arne Naess

Choose the correct answer from the options given below:

T.A-W,B-U,C-Il,D-1
ZA-LB-ILC-U,D-1V
3.A-ILE-IV,C-1,D-1I
4 A-NLB-IV,C-1,D-1

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gAfed st

Tl -l g -l

Ui Ud Yol NCCIACEIRED
A TIEa BT 1. e gIfsq

B. S 3HIciwi II. 3R, B
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< feu e fadent § 9 8 IR 9T

TA-IW,B-III,C-1,D-1
2ZA-LB-ILC-U,D-IV
A-ILB-IV,C-1,D-1I
4A-NLE-IV,C-LLD-1l

(1) 1
) 2
3) 3
4) 4
1[Option ID=38593]
2[Option ID=38594]

3[Option ID=38595]
4[Option ID=38596]

Question Description : dwbv_pg_pls_eng_2_q73

Sl. No.74
QBID:2074

Match List | with List

List | Concepts

List Il Thinkers

A. State as a class

I. Rousseau, Hegel, Green

B. State as ethical life

Il. Machiavelli and Hobbes

C. State as Power

IIl. Marx and Lenin

D. Minimal State

IV. Hayek and Nozick

Choose the correct answer from the options given below:

TA-ILB-IV, C-1IILD-1
2ZA-1LB-1,C-1,D-1IV
A-ILE-LC-N,D-1V
4 A-NLB-IV,C-1I,D-1

(1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Tl -l -1l

HhedHl faaR®
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T.A-ILBE-IV,C-1I,D-1
2ZA-NLB-1L,C-1,D-IV
A-ILB-1L,C-N,D-1V
4A-NLE-IV,C-1,D-1

(1) 1
) 2
3) 3
(4) 4
1[Option ID=38597]
2[Option ID=38598]

3[Option ID=38599]
4[Option ID=38600]

Question Description : dwbv_pg_pls_eng_2_q74
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Match List | with List Il

List | Book

List Il Author

A. Hind Swaraj

|. Babasahab Ambedkar

B. Discovery of India

II. Bal Gangadhar Tilak

C. Gita Rahasya

Ill. J. L. Nehru

D. Who Were the Shudras?

V. M. K. Gandhi

Choose the correct answer from the options given below:

TA-LB-ILC-ILD-1V
ZA-ILB-LC-IV,D-1I
A-INLB-IL,C-1L,D-1V
4A-IV,B-1ILC-1I,D-1

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gAfed st

Tl -l Tl -1l

PESEA NEeEd
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o fGu U fadeat o © U8l SR gHU

T.A-LE-ILC-U,D-1V
2ZA-ILB-1LC-IV,.D-1I
A-NLB-IL,C-1L,D-1IV
4.4-V,B-NILC-1I,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=38601] Question Description : dwbv_pg_pls_eng_2_q75
2[Option ID=38602]
3[Option ID=38603]
4[Option ID=38604]

Sl. No.76
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Match List | with List Il

List | Thinkers|List Il Concept

A. Sartori |. Falsification

B. Morris Il. Catallaxy

C. Hayek I1l. Physical Quality of life index

D. Popper IV. Demo-Protect and Demo-Power

Choose the correct answer from the options given below:

TA-IMB-LC-I,D-1I
2ZA-IV,B-IILC-I,D-1
3.A-ILB-ILC-1IV,D-1
4 A-1LB-NL,C-1,D-1V

1)
(2)
(3)
(4)

A W N =
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faR® Hah el

A, T |, oo

B. ARy I|. PeTcraE!
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< & e fadent & 9 9g IR g

TA-W,B-LC-I1I,D-1
2ZA-IV,B-IILLC-II,D-1
A-ILB-ILC-IV,D-I
448-1LB-I,C-1,D-1IV

(1) 1
) 2
3) 3
4) 4
1[Option ID=38605]
2[Option ID=38606]

3[Option ID=38607]
4[Option ID=38608]

Question Description : dwbv_pg_pls_eng_2_q76

Sl. No.77
QBID:2077

Match List | with List Il

List | List Il
A. Appropriation Bill
B. Vote of Credit

l. Consists three types of Expenditure

Il. Financial Grants given to the executive to meet urgent financial requirements
C. Charged Expenditure|lll. Non-Votable Expenditure from Consolidated Fund
D. Vote on Account

IV. A grant in-advance to the Central Government

Choose the correct answer from the options given below:

TA-LB-N,C-ILD-1V
ZA-LEBA,C-U,D-1V
3.A-ILE-1L,C-IV,D-1I
4 A-NLB-1,C-1,D-1V

1) 1
(2) 2
(3) 3
(4) 4
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T.A-LB-IL,C-1,D-1IV
2ZA-LB-II,C-,D-1V
LA-ILB-LC-IV,D-1I
4. 4-1LB-1,C-1L,D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38609] Question Description : dwbv_pg_pls_eng_2_q77
2[Option ID=38610]

3[Option ID=38611]
4[Option ID=38612]

Sl. No.78
QBID:2078

Match List | with List Il

List | List 1l

A. Concept of Vote Bank l. Narayan Guru

B. Sri Narayana Dharma Paripalana Yogam|ll. Mangoo Ram Mugowalia
C. Ad Dharm 1. M.N. Srinivas

D. The Self Respect Movement IV. Ramaswamy Naicker

Choose the correct answer from the options given below:

T.A-NILB-LC-1I,D-IV
2ZA-IV,B-LC-ULD-1
3A-ILB-IL,C-IV,D-1
448-1LB-ILC-IV,D-1I

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gAfed st

i -l -l

A I dF B HdheHl 1. AR RE
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TA-ILB-LC-1,D-1V
2ZA-IV,B-1,C-1IILD-1
A-ILB-IILC-1IV,D-1
4AA-LB-1ILC-IV,.D-1I

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38613]
2[Option ID=38614]

3[Option ID=38615]
4[Option ID=38616]

Question Description : dwbv_pg_pls_eng_2_q78

Sl. No.79
QBID:2079

Match List | with List I

List | Thinkers
A, H. Simon

List Il Related Concepts

. Generic and unique decision

B. Peter Drucker|ll. Programmed and Non-Programmed Decision
C. C. . Barnard
D. M.P. Follett

lIl. Organizational and personal decision

IV, Constructive Conflict

Choose the correct answer from the options given below:

T.A-LE-ILC-U,D-1V
2ZA-ILB-NL,C-IV,D-1
A-ILB-LC-H,D-1IV
4AA-IV,B-ILC-1,D-1

1) 1
(2) 2
3) 3
4) 4
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T.A-LB-ILC-1,D-1V
2.A-1LB-N,C-1V,D-1
A-ILB-LC-H,D-1IV
4.4-V,B-NILC-1I,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=38617] Question Description : dwbv_pg_pls_eng_2_q79
2[Option ID=38618]
3[Option ID=38619]
4[Option ID=38620]

Sl. No.80
QBID:2080

Match List | with List Il

List | Index List Il Ministry/Aayog

A. Good Governance Index l. NITI Aayog

B. Swachh Survekshan (cleanliness Index) |Il. Ministry of Personnel Public Grievances and Pensions

C. National Multidimensional Poverty Index|lll. Ministry of Consumer Affairs Food and Public Distribution
D. State Ranking Index for NFSA V. Ministry of Housing and Urban Affairs

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1
2ZA-ILB-LC-IV,D-1I
A-IV,B-LC-1L,D-
4 A-LBE-N,C-1,D-1V

1)
(2)
(3)
(4)

A W N =




-l -l
ESkdEd HATCTL/ SR
A. QI @B 1® 1. ifa SmarT
Bw)ﬂg&mm II. PIiH®, Ao RIeEd auT UeH 3ag
C. BT S Fear (1. IuHiad A, € Ud Fdeiie
pﬁ;ﬂwwq%‘aw Iv. B3t ud FRIg B Wy
d feu e fadeal # 4 Ugl 3R gHU :

T.A-ILB-IV,C-1,D-1I
ZA-ILBE-LC-IV,D-1I
3.A-IV,B-LC-1L,D-
4AA-LB-I,C-1,D-1V

1)
(2)
(3)
(4)

A W N B

1[Option ID=38621] Question Description : dwbv_pg_pls_eng_2_q80
2[Option ID=38622]
3[Option ID=38623]
4[Option ID=38624]

Sl. No.81
QBID:2081

Match List | with List Il

List | Regional Organization List Il Number of Member States
A. Shanghai Cooperation Organization|l. 27

B. ASEAN 1.8

C. African Union Ill. 10

D. European Union IV. 55

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-ILB-NL,C-IV,D-1
A-LB-ILC-I,D-1IV
4 A-NLE-IV,C-1,D-1

1)
(2)
(3)
(4)

A W N R




Tt -1 B gt -1 o gAfed st

Tl -l g -l

&3 e Hew Il B Tl
A. TETS GEdHT T 1. 27

B. 31 II. 8

C. 3BIdD! Y lIl. 10

D. Ui Ty V. 55

o fGu U fadeat o © U8l SR gHU

TA-IW,B-IILC-1,D-1
2ZA-ILB-NL,C-IV,D-1
A-LB-ILC-I,D-1IV
4A-NLE-IV,C-1,D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38625] Question Description : dwbv_pg_pls_eng_2_q81
2[Option ID=38626]

3[Option ID=38627]
4[Option ID=38628]

Sl. No.82
QBID:2082

Match List | with List Il

List | Author List Il Books
A. Walter Rodney . Theories of Underdevelopment and Development
B. Geoffrey Key Il. How Europe Underdeveloped Africa

C. Ronald H. Chilcote |lll. Development and Underdevelopment: A Marxist Analysis

D. Joseph Schumpeter|IV. Imperialism and Social Classes

Choose the correct answer from the options given below:

T.A-W,B-U,C-Il,D-1
ZA-NLB-IV,C-1,D-1
A-ILBE-IILC-1L,D-1V
4 A-1L,B-1L,C-1V,D-1

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gAfed st

Tl -l gl -l

NECCH Qdds

A, e ST 1. TS HF HStegagde Us Sqauie
B. SIh & II. BT T HSTSTS HB DI

C.IAE lII. STATHE U fSTSaaude : U HTh e
B LGIINIE]

D. S Yrer | Iv. sEiiRafE uus giRe e

e T et @ @ 9 SR AT

TA-IW,B-IIlLC-1,D-1
2ZA-NLB-IV,C-1,D-1
JA-ILB-N,C-1L,D-IV
4 A-1L,B-NL,C-1V,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=38629]
2[Option ID=38630]
3[Option ID=38631]
4[Option ID=38632]

Question Description : dwbv_pg_pls_eng_2_q82

Sl. No.83
QBID:2083

Arrange Chronologically in accordance with the year of publication?
A. Holy Family

B. Critique of Political Economy

C. The Poverty of Philosophy

D. Value, Price and Profit

Choose the correct answer from the options given below:

1.D, A, B, C
2ABCD
3.B,D, A C
4.4 CBD

1)
(2)
(3)
(4)

A W N R




UHRH-TY & TR FRfRad oI BIds AR daidd B
A. BIcH S
8. forfem offs Uifafema s
C. g UEe! 3t e
D. 3¢, WIgH US Uifee
i U T Aee § 9 9 I A -
1.0, A B, C
2.8 B, CD

3.B.DAC
4.A,CBD

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38633] Question Description : dwbv_pg_pls_eng_2_q83
2[Option ID=38634]

3[Option ID=38635]
4[Option ID=38636]

Sl. No.84
QBID:2084

In which order, according to Hegel the absolute Consciousness (God) reveals itself
A. Reason

B. Self Consciousness

C. Spirit

D. Simple Consciousness

Choose the correct answer from the options given below:

1.0,B A C
2.4 BCD
3.C,DBA
4.B,ACD

1) 1
(2) 2
3) 3
(4) 4




TRTA & S8R FRUE 9aT (354R) W0 &I Hgfaiad A ¥ fed shd 7 siftegad ol o:
A. fade
B. ST
C. HeTad
D. | <aHl
Tt Asai A d g I
1.D,B,A,C
2.A,B,CD

3.C,D,B A
4.B,ACD

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38637] Question Description : dwbv_pg_pls_eng_2_q84
2[Option ID=38638]

3[Option ID=38639]
4[Option ID=38640]

Sl. No.85
QBID:2085

Chronologically arrange books in order of their year of publication
A. The State and Revolution

B. The Political System

C. The German Ideoclogy

D. The Structure of Scientific Revolutions

Choose the ecorrect answer from the options given below:

1.A B D C
2B, CDA
3.B,ACD
4.CABD

1) 1
(2) 2
3) 3
(4) 4




Fufiiad (@ &I 3d UHRH a¥ & $HH H Aaiyd Hifa:
A. G e TS RalgzH

B. g Ui fren

C. & WA e

D. & o 3% wEfefihn Ralcgzr4

=i 2T 7TU el § 9 98l SR g -

1.A B D, C
2.B,C DA
3.B,ACD
4.C,ABD

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38641] Question Description : dwbv_pg_pls_eng_2_q85
2[Option ID=38642]

3[Option ID=38643]
4[Option ID=38644]

Sl. No.86
QBID:2086

What is the correct order in which the following terms are enshrined in the preamble of the Constitution:
A. Equality

B. Liberty

C. Justice

D. Fraternity

Choose the ecorrect answer from the options given below:

1.ABCD
2.CBAD
3.B,ACD
4.D, A B, C

1) 1
(2) 2
3) 3
(4) 4




Hfau ot I H HAPIYT FafaRad vl &1 98l oHeH o4 dr e:
A. TEAT
B. Tl

C. =g

D. ¥

i< feu e fawedl 5 9 98l 3w 9 -
1.A,B,C D
2.C,B,A D

3.B,ACD
4.D A B C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38645] Question Description : dwbv_pg_pls_eng_2_q86
2[Option ID=38646]

3[Option ID=38647]
4[Option ID=38648]

Sl. No.87
QBID:2087

Arrange the following organization in chronological order by their year of establishment.
A. Hind Mazdoor Sabha

B. Centre of Indian Trade Unions

C. All India Trade Union Congress

D. Bharatiya Mazdoor Sangh

E. Indian National Trade Union Congress

Choose the correct answer from the options given below:

1.C,D A EB
2CEADEB
3.C,B,ADE
4.EBCDA

1) 1
(2) 2
(3) 3
(4) 4




FufRad W3- B 34d RIUAT 94 & HH H SIAHHER HaRyd DI
A TS Hagz g4l
B. U=¥ 3F 30 ¢ a4

C. HId 31Sa1 <8 gHgA SiUY

D. A Helge 89
£. 37804 “Hd <8 gRTE S
i< f&T 70 fadedi # 9 981 ST I -
1.C,D,AEB
2.C,E A DB

3.C,BADE
4. EBCDA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38649] Question Description : dwbv_pg_pls_eng_2_q87
2[Option ID=38650]

3[Option ID=38651]
4[Option ID=38652]

Sl. No.88
QBID:2088

Arrange the following, 2" Administrative Reforms Commission reports in the sequential order.
A, Ethics in Governance

B. Public Order

C. Local Governance

D. Crisis Management

Choose the correct answer from the options given below:

1.ABCD
2.B,CDA
3.0,C A B
4.D A B C

1) 1
) 2
(3) 3
(4) 4




T w=-d QuR e & FafiRad Rulel & sHeH © SFER aied S
A A ¥ HifqRrd @fdadn
B. Tl oua=
C. ™I TTE
D. ¥dhe Uy
i< feu e faweal 5 9 981 IR 9 -
1.A,B,C,D
2.B,C,D, A

3.D,CAB
4.0, A B C

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38653] Question Description : dwbv_pg_pls_eng_2_q88
2[Option ID=38654]

3[Option ID=38655]
4[Option ID=38656]

Sl. No.89
QBID:2089

Arrange the following acts that promote transparency in governance, in chronological order
A. The Lokpal and Lokayukts Act

B. The Whistle Blowers Protection Act

C. The Prevention of Corruption Act

D. The Right to Information Act

E. The Central Vigilance Commission Act

Choose the correct answer from the options given below:

1T.EADCB
2.CEDAB
3.0, EAB
4 EDACE

(OR!
) 2
(3) 3
(4) 4




Fufeiaa sfRFgal o Sraged o oafd Sifae, o M9 H YReRId & Widisd $3d o

A, didUId Ud didgad Hfa-aH
8. fgua =dtaw WRam sfifgs
C. YRR Harur i
D. T &1 DR fa-mH
E. B Heldbdl AN e
id feu e fadhedl § 9 Ugl IR 94 -
1.E A D,CB
2.C,E D, A B
3.C,D,EAB
4.ED,ACB

1)
(2)
(3)
(4)

A W N R

1[Option ID=38657] Question Description : dwbv_pg_pls_eng_2_q89
2[Option ID=38658]
3[Option ID=38659]
4[Option ID=38660]

Sl. No.90
QBID:2090

Arrange the following former UN Secretary Generals in order of their having hold the office.
A. Dag Hammarskj&ld

B. U Thant

C. Boutros Boutros-Ghali

D. Javier Perez de Cuellar

Choose the correct answer from the options given below:

1.B,CAD
2.CB DA
3.AB,D,C
4D A CB

1)
(2)
(3)
(4)

A W N R




Hga AP & FEiiRad AerdfEdl o 396 Ug & SridId & HH H oqaiyd S|
A. ST gHRAICS

B. 3 YT

C. goY ga3d et

D. WifgaR Rfafs FeR

i< TR e el | 9 98l SR g -

1.B,C,AD
2.CB DA
3.AB,D,C
4D A CB

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38661] Question Description : dwbv_pg_pls_eng_2_q90
2[Option ID=38662]

3[Option ID=38663]
4[Option ID=38664]

Sl. No.91
QBID:2091




Read the following Passage and answer the question

The idea of liberalist model of development is based on the free market economy and policy of laissez-faire. In this
arrangement, the person is handed over to the market and it is claimed that the person is independent and can participate in
the development itself. It is obvious that this model involves globalization and privatization under which it is assumed that
the whole world is a village and every person can openly trade with each other. In such a system, the license system is loosen
and state control is minimized and, the minimum intervention of the state is desired in the economic, political, and social
sectors. Under this model, the development is synonymous with maximum production which gives greater emphasis to
industrialization and urbanization. In this system, because the doors of business are open to the whole world; multinational
corporations start spreading their net and the entire market of developing countries is filled with foreign products.
Consequently, the domestic production of that country lags. If the scale of development is to be talked about, then the level
of development is measured based on gross national production and national income. While measuring them, those persons
are not considered whose income and employment are at the lowest levels in the society. Actually, this model works to
create a gap in the state, in which there is a rich class on one side and on the other, a section whose own minimum
requirements are not met. Definitely, this model talks about the development of the person at the economic, political, and
social levels, but it keeps the “survival of the fittest’ in the center. In such a way, the holistic development of a person is
impossible.

frafafEa T $1 ufIe v 38 W Smutfia Uy &1 39 difee:

fa®1 & ISRl Hisd Uiy &I [aR Had ek Sioaw] Ud Sg¥daid @i H1fd O il 1 58 o9a=y1 8, Afdd ol 96k
& YUa o} (el 91dl & SR g8 &Il {1 ol & fdv ofdd Tada & Ud g fadrd § YT of Uddl &1 9 J&IF ¢ @ 9 Alsa H
i vd FefidRur ol [HE & S &, o/ ded U8 JFT 911 & 1 G fa% U 711d o1 & Ud Udl® odiad qad ©4 9
TSGR & Y AUR $ TPhdl 8l 39 UOR &I oGyl §, G599 gyl 3R Jog-Faw § & omdt &, qur onfdf,
IoHITa® T8 FHEio® 673 1 ITod &1 $H O $H saad HUlEd eidl ¢ | 59 A18d & Favid, [add fEmad e o gaHmf
g1 & Sl fb SMEIFI®R0 Ud RIS W dgd SHiUS 9d odl 51 39 gawyl § Fifch s49u (A1UR) & gR I8 fay & o gd
EU G ¢, SgRIPIY T (@BTUNEF) S(U-l Ugd & sATU® ST URH P § Ud faepraii =i o wuf a1eiR faesf Sdmel € W
ST & | HoRaey, 39 ¢ ®I UNe SdIG 16 US offdl g1 I [aema &1 90T @) forad ar # =i &1 o 8, df fde & wR
Bl Yopel AP IAIE TS P 14 & 2AYR TR HU7 F1T1 8| 39S HIUT & §HY, I Afderd] I 596 iHa 81 51 o1l &,
@t 21 Td ISR TE & 999 e TR W 214 2| i TU S, 08 1ise T § TP SRR 051 6 &1 $1 $RaT B
oo te RE d@ - & 811 & IR g8 TE a8 T @ U TAa e @t gfd ot 781 8 ot 81 R '
g Alsd ided, IsHiad, Td YHmfes TR W gU Aidd & fab™ & aR § o4 &l g, f] 98 Trgay &1 IwReiiddr &
figid @ &= 1 3@dl o | 59 UeR ¥, [&d @afgd &1 mariu foery siva gl

Which of the following is an obstacle to freedom of individual according to the liberalist model of development.

1. Poverty

2. Irrationality of human being
3. Government

4. Religion

1) 1
(2) 2
3) 3
4) 4

[a®Y & JeRAIG] HIsd & AHJUR dicd ®i Waadl H FafiRad ¥ U oH-U us are1 82

1. Frefrar
2. g B ]

3. TWHR
4. 4H




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38665] Question Description : dwbv_pg_pls_eng_2_q91
2[Option ID=38666]

3[Option ID=38667]
4[Option ID=38668]

Sl. No.92
QBID:2092

Read the following Passage and answer the question

The idea of liberalist model of development is based on the free market economy and policy of laissez-faire. In this
arrangement, the person is handed over to the market and it is claimed that the person is independent and can participate in
the development itself. It is obvious that this model involves globalization and privatization under which it is assumed that
the whole world is a village and every person can openly trade with each other. In such a system, the license system is loosen
and state control is minimized and, the minimum intervention of the state is desired in the economic, political, and social
sectors. Under this model, the development is synonymous with maximum production which gives greater emphasis to
industrialization and urbanization. In this system, because the doors of business are open to the whole world; multinational
corporations start spreading their net and the entire market of developing countries is filled with foreign products.
Consequently, the domestic production of that country lags. If the scale of development is to be talked about, then the level
of development is measured based on gross national production and national income. While measuring them, those persons
are not considered whose income and employment are at the lowest levels in the society. Actually, this model works to
create a gap in the state, in which there is a rich class on one side and on the other, a section whose own minimum
requirements are not met. Definitely, this model talks about the development of the person at the economic, political, and
social levels, but it keeps the "survival of the fittest’ in the center. In such a way, the holistic development of a person is
impossible.

fafefEa T &1 ufde vd 38 W smutfvd uy &1 Sw difere:

fa® & IGRAIG! Alsd Wiaey ol fadR Had SR sRicddw] Ud 3igeaald i -ifd UR SMUIRd g1 39 ogdwl H, dfdd &l 9%k
@ GUe P 1641 9T & IR I Gl 16l 9l & & e Wda € U9 9 fa@™ § 491 o bl 61 98 §99F & 1o s9 Alsa A
i vg Frefimeor 1 e o o1 8, s agd T8 51 o § & I 3% U@ vifa S € 8 vde e 9o ® 0 9
T5H-g0 & 91y AR 3R Godl ¢l 39 UGR @] ] §, dedd  aw 3R IJea-Faan § ol ot ¢, aur onfda,
R Ud QI &7 H A9 &1 HH U HH g&iald HUlEd gidl ol 38 Alsd & fid, [aem Hftdard Jdied ol gaHdt
Bl & 9l fdb SATEFNdR0T Ud FRIGRU R 95d U 90 adl ¢ | 39 gyl H ifdy o4dul (AUR) & gR 95 9y & o |ga
SU G &, SgRIBIY T (@BTUNF) S(U-l U9 ® SAU® ST URH PRl § Ud faepraaiie G2 o §u aTeiR faesfl Sdmel § W
ST 2| HoRaey, 39 o &1 Wid A6 1E US ofidl g1 IS [ &1 391 @) /s ar & 9= &1 9 8, df fieg & wR
@I Yo AP IATG U9 AP 3T B YR W AU ST 8 | 3Hb AU S THY, I AfGTal PI 36+ M &1 161 STl &,
@1 219 Td ASFTR IO & Tad Fad TR R eld ¢ | Idfa® ®9 1, 98 Aled Io9 H U@ AH=1d Ual B &1 &1 &l §
o U R ol 9=l @l a1 g AR GIRl IRW dg dl o] G ATH Ha=gddlal & gfd i 781 g urdl 81 Fi%d & u ¥,
gg Aisd i, Jerildd, Ud YHIfee TR W gU Aidd & [db™ & &R H ol &xdl o, fb] 98 UFgad & SuReliddr &
sl ®f o 5 TEdl ¢ | 39 YR 4, [l oufdd &1 gaFion fdem sfivd gl




Which of the following includes characteristics of liberalist model of development?
A. Free-Market Economy

B. Individual freedom

C. Belief in rationality of human being

D. State-controlled Economy

Choose the correct answer from the options given below:

1. A, Cand D only.
2. A, B and C only.
3.B, Cand D only.
4.A, B, Cand D.

1) 1
(2) 2
(3) 3
(4) 4

fg@TE & JaRrale Alsa H Mufdaiad # 9 &iH-i [aRud | #fed gidl 87
A H&I FIER efergw
B. dufdics Tzl
C. Hi-d &1 difhepal H fdyr8
D. g - sraae
i< feu e faweal 5 § 981 IR 9 -
1.®ad A, C 3R D
2.BadA, B IR C

3. HAd B, C AR D
4. A B, C3IRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38669] Question Description : dwbv_pg_pls_eng_2_q92
2[Option ID=38670]

3[Option ID=38671]
4[Option ID=38672]

Sl. No.93
QBID:2093




Read the following Passage and answer the question

The idea of liberalist model of development is based on the free market economy and policy of laissez-faire. In this
arrangement, the person is handed over to the market and it is claimed that the person is independent and can participate in
the development itself. It is obvious that this model involves globalization and privatization under which it is assumed that
the whole world is a village and every person can openly trade with each other. In such a system, the license system is loosen
and state control is minimized and, the minimum intervention of the state is desired in the economic, political, and social
sectors. Under this model, the development is synonymous with maximum production which gives greater emphasis to
industrialization and urbanization. In this system, because the doors of business are open to the whole world; multinational
corporations start spreading their net and the entire market of developing countries is filled with foreign products.
Consequently, the domestic production of that country lags. If the scale of development is to be talked about, then the level
of development is measured based on gross national production and national income. While measuring them, those persons
are not considered whose income and employment are at the lowest levels in the society. Actually, this model works to
create a gap in the state, in which there is a rich class on one side and on the other, a section whose own minimum
requirements are not met. Definitely, this model talks about the development of the person at the economic, political, and
social levels, but it keeps the “survival of the fittest’ in the center. In such a way, the holistic development of a person is
impossible.

frafafEa T $1 ufIe v 38 W Smutfia Uy &1 39 difee:

fa®1 & ISRl Hisd Uiy &I [aR Had ek Sioaw] Ud Sg¥daid @i H1fd O il 1 58 o9a=y1 8, Afdd ol 96k
& YUa o} (el 91dl & SR g8 &Il {1 ol & fdv ofdd Tada & Ud g fadrd § YT of Uddl &1 9 J&IF ¢ @ 9 Alsa H
i vd FefidRur ol [HE & S &, o/ ded U8 JFT 911 & 1 G fa% U 711d o1 & Ud Udl® odiad qad ©4 9
TSGR & Y AUR $ TPhdl 8l 39 UOR &I oGyl §, G599 gyl 3R Jog-Faw § & omdt &, qur onfdf,
IoHITa® T8 FHEio® 673 1 ITod &1 $H O $H saad HUlEd eidl ¢ | 59 A18d & Favid, [add fEmad e o gaHmf
g1 & Sl fb SMEIFI®R0 Ud RIS W dgd SHiUS 9d odl 51 39 gawyl § Fifch s49u (A1UR) & gR I8 fay & o gd
EU G ¢, SgRIPIY T (@BTUNEF) S(U-l Ugd & sATU® ST URH P § Ud faepraii =i o wuf a1eiR faesf Sdmel € W
ST & | HoRaey, 39 ¢ ®I UNe SdIG 16 US offdl g1 I [aema &1 90T @) forad ar # =i &1 o 8, df fde & wR
Bl Yopel AP IAIE TS P 14 & 2AYR TR HU7 F1T1 8| 39S HIUT & §HY, I Afderd] I 596 iHa 81 51 o1l &,
@t 21 Td ISR TE & 999 e TR W 214 2| i TU S, 08 1ise T § TP SRR 051 6 &1 $1 $RaT B
oo te RE d@ - & 811 & IR g8 TE a8 T @ U TAa e @t gfd ot 781 8 ot 81 R '
g Alsd ided, IsHiad, Td YHmfes TR W gU Aidd & fab™ & aR § o4 &l g, f] 98 Trgay &1 IwReiiddr &
figid @ &= 1 3@dl o | 59 UeR ¥, [&d @afgd &1 mariu foery siva gl

Which of the following will be result of Industrialization?
A, It will create disparity between rich and poor

B. Concentration of wealth in the hands of few

C. It will create social discrimination

D. It will strengthen civil society organizations

Choose the correct answer from the options given below:

1. A and C only.
2.B and C only.
3. A and B only.
4. Cand D only.

1 1
) 2
3) 3




(4) 4

frafafed 5§ F 9 seriiou & uRkumE g
A. T8 3R 4 TXI9 & sd [Guaar OaT S|

B. 36 -HUCT &1 P grdl § Heh=01 & Sy
C. Ug GHIfeIe HEHId &l Iad S|

D. U THiad QH S 1841 &I Jolgdl UaH BTl
o fGu U fodheal 3 9 98 S g -

1.HaA A 3R C
2. Haa B3R C
3. had A AR B
4.PHACHRD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38673]
2[Option ID=38674]

3[Option ID=38675]
4[Option ID=38676]

Question Description : dwbv_pg_pls_eng_2_q93

Sl. No.94
QBID:2094




Read the following Passage and answer the question

The idea of liberalist model of development is based on the free market economy and policy of laissez-faire. In this
arrangement, the person is handed over to the market and it is claimed that the person is independent and can participate in
the development itself. It is obvious that this model involves globalization and privatization under which it is assumed that
the whole world is a village and every person can openly trade with each other. In such a system, the license system is loosen
and state control is minimized and, the minimum intervention of the state is desired in the economic, political, and social
sectors. Under this model, the development is synonymous with maximum production which gives greater emphasis to
industrialization and urbanization. In this system, because the doors of business are open to the whole world; multinational
corporations start spreading their net and the entire market of developing countries is filled with foreign products.
Consequently, the domestic production of that country lags. If the scale of development is to be talked about, then the level
of development is measured based on gross national production and national income. While measuring them, those persons
are not considered whose income and employment are at the lowest levels in the society. Actually, this model works to
create a gap in the state, in which there is a rich class on one side and on the other, a section whose own minimum
requirements are not met. Definitely, this model talks about the development of the person at the economic, political, and
social levels, but it keeps the “survival of the fittest’ in the center. In such a way, the holistic development of a person is
impossible.

frafafEa T $1 ufIe v 38 W Smutfia Uy &1 39 difee:

fa®1 & ISRl Hisd Uiy &I [aR Had ek Sioaw] Ud Sg¥daid @i H1fd O il 1 58 o9a=y1 8, Afdd ol 96k
& YUa o} (el 91dl & SR g8 &Il {1 ol & fdv ofdd Tada & Ud g fadrd § YT of Uddl &1 9 J&IF ¢ @ 9 Alsa H
i vd FefidRur ol [HE & S &, o/ ded U8 JFT 911 & 1 G fa% U 711d o1 & Ud Udl® odiad qad ©4 9
TSGR & Y AUR $ TPhdl 8l 39 UOR &I oGyl §, G599 gyl 3R Jog-Faw § & omdt &, qur onfdf,
IoHITa® T8 FHEio® 673 1 ITod &1 $H O $H saad HUlEd eidl ¢ | 59 A18d & Favid, [add fEmad e o gaHmf
g1 & Sl fb SMEIFI®R0 Ud RIS W dgd SHiUS 9d odl 51 39 gawyl § Fifch s49u (A1UR) & gR I8 fay & o gd
EU G ¢, SgRIPIY T (@BTUNEF) S(U-l Ugd & sATU® ST URH P § Ud faepraii =i o wuf a1eiR faesf Sdmel € W
ST & | HoRaey, 39 ¢ ®I UNe SdIG 16 US offdl g1 I [aema &1 90T @) forad ar # =i &1 o 8, df fde & wR
Bl Yopel AP IAIE TS P 14 & 2AYR TR HU7 F1T1 8| 39S HIUT & §HY, I Afderd] I 596 iHa 81 51 o1l &,
@t 21 Td ISR TE & 999 e TR W 214 2| i TU S, 08 1ise T § TP SRR 051 6 &1 $1 $RaT B
oo te RE d@ - & 811 & IR g8 TE a8 T @ U TAa e @t gfd ot 781 8 ot 81 R '
g Alsd ided, IsHiad, Td YHmfes TR W gU Aidd & fab™ & aR § o4 &l g, f] 98 Trgay &1 IwReiiddr &
figid @ &= 1 3@dl o | 59 UeR ¥, [&d @afgd &1 mariu foery siva gl

Given below are two statements:

Statement |: Maximum intervention of state is needed for economic development.
Statement Il: Maximum production is essential for development.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
2) 2
3) 3
(4) 4




EIERALAE N AR N f
DY - | - ToT B HADTH galy S [dP™ & Y awu® o
B - 11 3BT IaTe e & R sfard grar
SUge Pyl B e H FEiaRad Geed 9 98 I g -
1. @Y | 3R 1 &§H 9T B
2. @Y1 AR I GHI A B

3. @Y | g &, T &Y 11 Tad 8
4. @Y | Tad &, g B 1 T B

1)
(2)
(3)
(4)

A W N R

1[Option ID=38677] Question Description : dwbv_pg_pls_eng_2_q94
2[Option ID=38678]
3[Option ID=38679]
4[Option ID=38680]

Sl. No.95
QBID:2095




Read the following Passage and answer the question

The idea of liberalist model of development is based on the free market economy and policy of laissez-faire. In this
arrangement, the person is handed over to the market and it is claimed that the person is independent and can participate in
the development itself. It is obvious that this model involves globalization and privatization under which it is assumed that
the whole world is a village and every person can openly trade with each other. In such a system, the license system is loosen
and state control is minimized and, the minimum intervention of the state is desired in the economic, political, and social
sectors. Under this model, the development is synonymous with maximum production which gives greater emphasis to
industrialization and urbanization. In this system, because the doors of business are open to the whole world; multinational
corporations start spreading their net and the entire market of developing countries is filled with foreign products.
Consequently, the domestic production of that country lags. If the scale of development is to be talked about, then the level
of development is measured based on gross national production and national income. While measuring them, those persons
are not considered whose income and employment are at the lowest levels in the society. Actually, this model works to
create a gap in the state, in which there is a rich class on one side and on the other, a section whose own minimum
requirements are not met. Definitely, this model talks about the development of the person at the economic, political, and
social levels, but it keeps the “survival of the fittest’ in the center. In such a way, the holistic development of a person is
impossible.

frafafEa T $1 ufIe v 38 W Smutfia Uy &1 39 difee:

fa®1 & ISRl Hisd Uiy &I [aR Had ek Sioaw] Ud Sg¥daid @i H1fd O il 1 58 o9a=y1 8, Afdd ol 96k
& YUa o} (el 91dl & SR g8 &Il {1 ol & fdv ofdd Tada & Ud g fadrd § YT of Uddl &1 9 J&IF ¢ @ 9 Alsa H
i vd FefidRur ol [HE & S &, o/ ded U8 JFT 911 & 1 G fa% U 711d o1 & Ud Udl® odiad qad ©4 9
TSGR & Y AUR $ TPhdl 8l 39 UOR &I oGyl §, G599 gyl 3R Jog-Faw § & omdt &, qur onfdf,
IoHITa® T8 FHEio® 673 1 ITod &1 $H O $H saad HUlEd eidl ¢ | 59 A18d & Favid, [add fEmad e o gaHmf
g1 & Sl fb SMEIFI®R0 Ud RIS W dgd SHiUS 9d odl 51 39 gawyl § Fifch s49u (A1UR) & gR I8 fay & o gd
EU G ¢, SgRIPIY T (@BTUNEF) S(U-l Ugd & sATU® ST URH P § Ud faepraii =i o wuf a1eiR faesf Sdmel € W
ST & | HoRaey, 39 ¢ ®I UNe SdIG 16 US offdl g1 I [aema &1 90T @) forad ar # =i &1 o 8, df fde & wR
Bl Yopel AP IAIE TS P 14 & 2AYR TR HU7 F1T1 8| 39S HIUT & §HY, I Afderd] I 596 iHa 81 51 o1l &,
@t 21 Td ISR TE & 999 e TR W 214 2| i TU S, 08 1ise T § TP SRR 051 6 &1 $1 $RaT B
oo te RE d@ - & 811 & IR g8 TE a8 T @ U TAa e @t gfd ot 781 8 ot 81 R '
g Alsd ided, IsHiad, Td YHmfes TR W gU Aidd & fab™ & aR § o4 &l g, f] 98 Trgay &1 IwReiiddr &
figid @ &= 1 3@dl o | 59 UeR ¥, [&d @afgd &1 mariu foery siva gl

Given below are two statements:
Statement I: Liberalist model regards economic development as the precondition for individual development.

Statement II: The liberalist model does not suit to developing countries, as they feel it will be a source of neo-colonial
control of developed countries.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

(1) 1
(2) 2
(3) 3
(4) 4




EIEEAEAIE AT R
@Y - | : IERAK] Hisd e B & Jafdad [ &1 gaed & ¥4 J HHdI 8|

TYA - || : SGRAG 7150 [AHRI 6=l & [0 3Uad -Tal &, 7911d d YA & (& Jg [adidd 61 & 4a-3UuH-a=ar] =g
B TS Fid s

Sudad @Al & ai® § FufaRad el § 3 wel S A -
1. YT | AR 11 ST FT B
2. YA | AR 11 GFT AT B

3. @Y 1 T B, g @y 1 Tad g
4. YA | TTad &, g Bu 1 9T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38681] Question Description : dwbv_pg_pls_eng_2_q95
2[Option ID=38682]

3[Option ID=38683]
4[Option ID=38684]

Sl. No.96
QBID:2096




Read the following Passage and answer the question

Public policy in India is in a state of flux. The nature of the policy process has changed dramatically with an increasing role of
different actors, both locally and globally. A case is made to listen to the multiple voices that are emerging in governance
processes; it is argued that it is necessary to create a space for dialogue among civil society and citizens. The demand for
stronger links between research and policy has grown, as much as efforts to mainstreaming public policy education to
professionalize the bureaucracy.

New discourses have emerged that shape policy choices. Several discourses have been nevertheless reduced to status of
rhetoric and cliché. Emerging demographic trends at the national level-such as urbanization and environmental trends at the
global level, such as climate change have redefined the contours of public policy and governance, posing new challenges for
policy formulation as well as engendering debates on appropriate forms of governance. Governance refers to all manners of
exercising control and authority in the allocation of resources. Governance issues are thus closely tied to the processes and
mechanisms through which people access resources. However, the extent to which they have improved the control of
resource users, remains a moot question. Often, this has been a question of efforts at changing control relation between the
state and civil society; while policies have succeeded in creating management capacity at lower levels.

The gap between 'governance’ and ‘government’ is understood to have widened in the Indian context, as well as globally.
Actors other than the state have come to acquire a greater role in the exercise of control and authority in the allocation of
resources. The locus of policy making has moved from the state to other actors; markets and civil society have created
greater space for themselves. State authority has been diluted by a greater influence of other actors, both at local and global
levels. New discourses such as those of neo-liberalism and good governance have altered the relationships between state,
markets and civil society. While the discourse of nec-liberalism was founded on the narrative of the inefficient state, the neo-
liberal paradigm evoked criticisms on account of the exclusion of the poor from the provision of service delivery.

fafafad e 1 18 ofR 399 uy &1 I dfem)

YRd H did Hifd uRad= @i fufq # g1 fafte ddiel = 3R e 9 4 aHl @ 9gdl YHdT & a1y Hifard ufhars &
WEy H Aesd yiadd il gl 34 9gidY Rl W &IH & $f Uxd] ol Siidl &, -1 2me- uissarst § 34y gl 8T 6, 98
dch fear Srdl & o fafad 9remad siR ARl & did 9die & foe s Sdd Sl A ¢ | [ SR Aifd & did sifbd
Horgd Gael @1 G I € sedl T8 ©, T 6 el B UaR FH & U ale Hifa B Ria B ey J ° @1 54
3 @ 6l

U =il @1 3nged gl o, o Hifava faded @l AaR &d g1 il o, s fans I=srewR ok fGwr o diffa & T &l
AP TR W Wi Sl S ughml 3R 3ffe TR W Saary uiedT @ ughl & erged | die ifd iR e
B TR B GIURYIRG & 8, i i Feuor & Qry-91y 39E & Suged w0 IR 989 & o 601 g | X6, SareEr
@ 3fded | U iR MASR © SIIAE © 90 aid! B Yaiid ®Idl & | 59 UOR, XM & Og, 34 Wars! R oA & Iy
ToC®! O 93 Bid &, ford A1E| ¥ ST TeFT 9@ Ugd OOF Bl &l 390 9199G, 36l SaIEH & Suar@ars |
T & forg i o QuR fvar &, a8 v fGarerae 81 98 ua: Iwg SR fifaa 9amd & o9 d6el & 9gad Haam d ar o
YT &1 U UY Te1 &: Sidids il Hee TR U YeeH &Hdl o Hair H 9%d <6 6

T8 JH o1 & fob YRdrg ey | 3R 3fi® T W I 3R WRaR & d1d BrEdl 96l 8 | I9d & ATaRad Sdisil 4 SareE
& Hded # g3 SR MU®R & %A H e YiHe! urd @1 g1 -ifd- FHfv &1 §g-0y 7 9 o Sdisl @ 3R Ragdr
% FORT R Rfda 9urEd 3 Wy o U geae Eigw Ul &1 81 WY o afYe R R o dafel & gem uYE &
PRUI A I U<l HH g3 o Fd-3GRAIG AR YA - Ued, daRl 3R Gfde 9ard & &9 & Yayi § gRadd faear g1 =a-
FERAIG! WaHH @1 H1d HHc I8 b ARAH WR IR i, Sfaifds 79-IgRarc UfaHH 0=l Ya1 Yerril & WiauH H TRidl &
TESHLU] B BRI ST BT RABR g |




The Gap between Governance and Government has widened due to -----------------

1. Control Mechanism

2. Policy making technigues

3. Invalvement of more actors in the allocation of resources
4. Lack of space for markets and civil society

1)
(2)
(3)
(4)

........... % BRI IR 3R WER & §rd B 961 2
1. AT A
2. Fifg-Fmfor gt
3. GOTeHl & 3ded | Sife darsll &1 affad
4. TR AR FOfed SEd & [T ®F (@09) 1 3444

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38685] Question Description : dwbv_pg_pls_eng_2_q96
2[Option ID=38686]
3[Option ID=38687]
4[Option ID=38688]

Sl. No.97
QBID:2097




Read the following Passage and answer the question

Public policy in India is in a state of flux. The nature of the policy process has changed dramatically with an increasing role of
different actors, both locally and globally. A case is made to listen to the multiple voices that are emerging in governance
processes; it is argued that it is necessary to create a space for dialogue among civil society and citizens. The demand for
stronger links between research and policy has grown, as much as efforts to mainstreaming public policy education to
professionalize the bureaucracy.

New discourses have emerged that shape policy choices. Several discourses have been nevertheless reduced to status of
rhetoric and cliché. Emerging demographic trends at the national level-such as urbanization and environmental trends at the
global level, such as climate change have redefined the contours of public policy and governance, posing new challenges for
policy formulation as well as engendering debates on appropriate forms of governance. Governance refers to all manners of
exercising control and authority in the allocation of resources. Governance issues are thus closely tied to the processes and
mechanisms through which people access resources. However, the extent to which they have improved the control of
resource users, remains a moot question. Often, this has been a question of efforts at changing control relation between the
state and civil society; while policies have succeeded in creating management capacity at lower levels.

The gap between 'governance’ and ‘government’ is understood to have widened in the Indian context, as well as globally.
Actors other than the state have come to acquire a greater role in the exercise of control and authority in the allocation of
resources. The locus of policy making has moved from the state to other actors; markets and civil society have created
greater space for themselves. State authority has been diluted by a greater influence of other actors, both at local and global
levels. New discourses such as those of neo-liberalism and good governance have altered the relationships between state,
markets and civil society. While the discourse of nec-liberalism was founded on the narrative of the inefficient state, the neo-
liberal paradigm evoked criticisms on account of the exclusion of the poor from the provision of service delivery.

frafafad e 1 18 ofR 399 uy &1 I3 dfem)

YRd H did Hifd uRad= @i fufq # g1 fafte ddiel = 3R e 9 4 aHl @ 9gdl YHdT & a1y Hifard ufhars &
ey H Aesd yiadd il g1 34 9gidY [daRl W &IH & &I Ud] &l Siid! 8, o1 2me- uisearst J 314y gl I8l 8, 98
b fear rdl & o fafad 9emad sk AFRe! & 9 4die & o Ioge g &l a0 &1 2 R Aifd & di9 sifbe
Hoigd Gael @1 G I € sedl T8 §, i 6 NevwEl B U M & U die i B Ris B feyR & a9 @1 54
3 @ 6l

U fquel &1 ey gl &, Sl AifavTd [dbedl @l PR &d g1 B i, @ farel Iearsar 3R fead d& diftd 38 1 g1
AP TR W Wi Sl S ughml 3R 3ffe TR W Saary uiedT @ ughl & erged | die ifd iR e
B TR B GIURHIRG & 3, i ifd Feuor & ary-a1y 3mee & Suged WU IR 989 & o 60T g | I, SaneE
@ 3fde | A iR MASR © SIIHE © 90 aid! B Haid ®Xdl & | 59 UOR, XM & e, 34 Wioars 3R o & 9y
T 92 g1 € e TeE U SHar SuE 96 Ugd BI9H B ¢ 599 S1aug, 314 9uHEl & Iudinediel 1
T  forg i o QuR fvar &, a8 vy fGarerae 81 78 ua: Ing SR fifaa 9amd & o9 deel & 9gad Haam s ar o
U &1 U UY Te1 &: Siaids il Hee TR U Ye e &Hdl o a8 9%d 6

T8 JH o1 & fob YRdrg ey | 3R 3fi® T W I 3R WRaR & d1d BrEdl 96l 8 | I9d & ATaRad Sdisil 4 SareE
& Hded # g3 SR MU®R & %A H e YiHe! urd @1 g1 -ifd- FHfv &1 §g-0y 7 9 o Sdisl @ 3R Ragdr
& IO R Rfdd 9arEd 3 Wy o U geae Eigw Ul @1 81 WY 3R 3fte R R o dafl & gew uYE &
DRI AU B Tl HH g5 6| Ad-3GRAIG 3R YA - Iy, SeiRl 3R [fad G & dfg & d&ui § uRdd fear g1 =a-
FERAIG! WaHH @1 H1d HHc I8 b ARAH WR IR i, Sfaifds 79-IgRarc UfaHH 0=l Ya1 Yerril & WiauH H TRidl &
SESHLUl B BRI ST BT ABR g |




Which one of the following is not correct regarding governance?

1. Exercise of control and authority

2. Absence of relations between the state & civil society
3. Allocation of resources

4. Issues of access to resources by people

1)
(2)
(3)
(4)

ofaRad & 9 &9 HUF W99 & 91 § 981 T8l 67

1. g3 3R UfAeR @1 gwad

2. oY SR Fiae gramd & dig daul &f sHufd
3. GOTeHl @1 3ded

4. ] @1 YHIEH! 9% Ugd & He,

A W N R

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=38689] Question Description : dwbv_pg_pls_eng_2_q97
2[Option ID=38690]
3[Option ID=38691]
4[Option ID=38692]

Sl. No.98
QBID:2098




Read the following Passage and answer the question

Public policy in India is in a state of flux. The nature of the policy process has changed dramatically with an increasing role of
different actors, both locally and globally. A case is made to listen to the multiple voices that are emerging in governance
processes; it is argued that it is necessary to create a space for dialogue among civil society and citizens. The demand for
stronger links between research and policy has grown, as much as efforts to mainstreaming public policy education to
professionalize the bureaucracy.

New discourses have emerged that shape policy choices. Several discourses have been nevertheless reduced to status of
rhetoric and cliché. Emerging demographic trends at the national level-such as urbanization and environmental trends at the
global level, such as climate change have redefined the contours of public policy and governance, posing new challenges for
policy formulation as well as engendering debates on appropriate forms of governance. Governance refers to all manners of
exercising control and authority in the allocation of resources. Governance issues are thus closely tied to the processes and
mechanisms through which people access resources. However, the extent to which they have improved the control of
resource users, remains a moot question. Often, this has been a question of efforts at changing control relation between the
state and civil society; while policies have succeeded in creating management capacity at lower levels.

The gap between 'governance’ and ‘government’ is understood to have widened in the Indian context, as well as globally.
Actors other than the state have come to acquire a greater role in the exercise of control and authority in the allocation of
resources. The locus of policy making has moved from the state to other actors; markets and civil society have created
greater space for themselves. State authority has been diluted by a greater influence of other actors, both at local and global
levels. New discourses such as those of neo-liberalism and good governance have altered the relationships between state,
markets and civil society. While the discourse of nec-liberalism was founded on the narrative of the inefficient state, the neo-
liberal paradigm evoked criticisms on account of the exclusion of the poor from the provision of service delivery.

frafafad e 1 18 ofR 399 uy &1 I3 dfem)

YRd H did Hifd uRad= @i fufq # g1 fafte ddiel = 3R e 9 4 aHl @ 9gdl YHdT & a1y Hifard ufhars &
ey H Aesd yiadd il g1 34 9gidY [daRl W &IH & &I Ud] &l Siid! 8, o1 2me- uisearst J 314y gl I8l 8, 98
b fear rdl & o fafad 9emad sk AFRe! & 9 4die & o Ioge g &l a0 &1 2 R Aifd & di9 sifbe
Hoigd Gael @1 G I € sedl T8 §, i 6 NevwEl B U M & U die i B Ris B feyR & a9 @1 54
3 @ 6l

U fquel &1 ey gl &, Sl AifavTd [dbedl @l PR &d g1 B i, @ farel Iearsar 3R fead d& diftd 38 1 g1
AP TR W Wi Sl S ughml 3R 3ffe TR W Saary uiedT @ ughl & erged | die ifd iR e
B TR B GIURHIRG & 3, i ifd Feuor & ary-a1y 3mee & Suged WU IR 989 & o 60T g | I, SaneE
@ 3fde | A iR MASR © SIIHE © 90 aid! B Haid ®Xdl & | 59 UOR, XM & e, 34 Wioars 3R o & 9y
T 92 g1 € e TeE U SHar SuE 96 Ugd BI9H B ¢ 599 S1aug, 314 9uHEl & Iudinediel 1
T  forg i o QuR fvar &, a8 vy fGarerae 81 78 ua: Ing SR fifaa 9amd & o9 deel & 9gad Haam s ar o
U &1 U UY Te1 &: Siaids il Hee TR U Ye e &Hdl o a8 9%d 6

T8 JH o1 & fob YRdrg ey | 3R 3fi® T W I 3R WRaR & d1d BrEdl 96l 8 | I9d & ATaRad Sdisil 4 SareE
& Hded # g3 SR MU®R & %A H e YiHe! urd @1 g1 -ifd- FHfv &1 §g-0y 7 9 o Sdisl @ 3R Ragdr
& IO R Rfdd 9arEd 3 Wy o U geae Eigw Ul @1 81 WY 3R 3fte R R o dafl & gew uYE &
DRI AU B Tl HH g5 6| Ad-3GRAIG 3R YA - Iy, SeiRl 3R [fad G & dfg & d&ui § uRdd fear g1 =a-
FERAIG! WaHH @1 H1d HHc I8 b ARAH WR IR i, Sfaifds 79-IgRarc UfaHH 0=l Ya1 Yerril & WiauH H TRidl &
SESHLUl B BRI ST BT ABR g |




Which of the following are correct that redefine public policy and governance?
A, Issues of urbanization and environmental debates

B. Debates on forms of governance

C. Status of rhetoric and cliché

D. Strengthening of state autonomy

Choose the correct answer from the options given below:

1.4, B CandD.
2.B, Cand D only.
3. A and B only.
4.Cand D only.

(1)
(2)
(3)
(4)

A W N R

FafaRed H 9 @11 3YH 981 5, 9 dio Aifd 3R UEH &I gHURHING &3 |
A TEdIERU AR GOy 4adl 559 & g5

B. IEH & T R g4

C. TeaTeaR AR fe@md ot uieyfd

D. o9 @! WAl &I Helgd Bl

i< 2T U el § 9 98l SR g -

1.A,B,C AR D
2.%ad B, C AR D
3. Had A IReB
4.%ddC IRD

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38693] Question Description : dwbv_pg_pls_eng_2_q98
2[Option ID=38694]
3[Option ID=38695]
4[Option ID=38696]

Sl. No.99
QBID:2099




Read the following Passage and answer the question

Public policy in India is in a state of flux. The nature of the policy process has changed dramatically with an increasing role of
different actors, both locally and globally. A case is made to listen to the multiple voices that are emerging in governance
processes; it is argued that it is necessary to create a space for dialogue among civil society and citizens. The demand for
stronger links between research and policy has grown, as much as efforts to mainstreaming public policy education to
professionalize the bureaucracy.

New discourses have emerged that shape policy choices. Several discourses have been nevertheless reduced to status of
rhetoric and cliché. Emerging demographic trends at the national level-such as urbanization and environmental trends at the
global level, such as climate change have redefined the contours of public policy and governance, posing new challenges for
policy formulation as well as engendering debates on appropriate forms of governance. Governance refers to all manners of
exercising control and authority in the allocation of resources. Governance issues are thus closely tied to the processes and
mechanisms through which people access resources. However, the extent to which they have improved the control of
resource users, remains a moot question. Often, this has been a question of efforts at changing control relation between the
state and civil society; while policies have succeeded in creating management capacity at lower levels.

The gap between 'governance’ and ‘government’ is understood to have widened in the Indian context, as well as globally.
Actors other than the state have come to acquire a greater role in the exercise of control and authority in the allocation of
resources. The locus of policy making has moved from the state to other actors; markets and civil society have created
greater space for themselves. State authority has been diluted by a greater influence of other actors, both at local and global
levels. New discourses such as those of neo-liberalism and good governance have altered the relationships between state,
markets and civil society. While the discourse of nec-liberalism was founded on the narrative of the inefficient state, the neo-
liberal paradigm evoked criticisms on account of the exclusion of the poor from the provision of service delivery.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Public policy education is necessary to professionalize the bureaucracy.

Reason (R) : Public policy education needs strong links between research and policy making process.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (4).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is incorrect.

4. (A) is incorrect but (R) is correct.

1) 1
) 2
3) 3
4) 4
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Read the following Passage and answer the question

Public policy in India is in a state of flux. The nature of the policy process has changed dramatically with an increasing role of
different actors, both locally and globally. A case is made to listen to the multiple voices that are emerging in governance
processes; it is argued that it is necessary to create a space for dialogue among civil society and citizens. The demand for
stronger links between research and policy has grown, as much as efforts to mainstreaming public policy education to
professionalize the bureaucracy.

New discourses have emerged that shape policy choices. Several discourses have been nevertheless reduced to status of
rhetoric and cliché. Emerging demographic trends at the national level-such as urbanization and environmental trends at the
global level, such as climate change have redefined the contours of public policy and governance, posing new challenges for
policy formulation as well as engendering debates on appropriate forms of governance. Governance refers to all manners of
exercising control and authority in the allocation of resources. Governance issues are thus closely tied to the processes and
mechanisms through which people access resources. However, the extent to which they have improved the control of
resource users, remains a moot question. Often, this has been a question of efforts at changing control relation between the
state and civil society; while policies have succeeded in creating management capacity at lower levels.

The gap between 'governance’ and ‘government’ is understood to have widened in the Indian context, as well as globally.
Actors other than the state have come to acquire a greater role in the exercise of control and authority in the allocation of
resources. The locus of policy making has moved from the state to other actors; markets and civil society have created
greater space for themselves. State authority has been diluted by a greater influence of other actors, both at local and global
levels. New discourses such as those of neo-liberalism and good governance have altered the relationships between state,
markets and civil society. While the discourse of nec-liberalism was founded on the narrative of the inefficient state, the neo-
liberal paradigm evoked criticisms on account of the exclusion of the poor from the provision of service delivery.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Neo-Liberal paradigm was founded on the narrative of the inefficient state.

Reason (R) : Neo-Liberal paradigm is inclusive in nature.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (4).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is incorrect.

4. (A) is incorrect but (R) is correct.
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